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Unit 1. Leisure & Life
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Vocabulary Preview
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3. scary
6. clerk

2. advice

A 1. theater
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Reading 1

2.3 3.0 4@
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28 2HOIM, 0lF= A

Visualize the Text

LHE0[ HS=RACH,
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(3) flashlight
(6) dangerous

(2) dark colors

(5) fires

(1) safe

(4) long
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- they= ‘dark colors' S 2|0|gict

@ In the dark, cars can’t see you if you wear
dark colors.
iFE2 2 BAERE "~ 9 ojnjolct,
« 22 SAEOIM S AMl= 0l AIMIS Chdlsh
M ARZELCE (NOT - if you wil-wear )

@EY This advice will make Halloween a safe and
fun day.
*make + 2X0| + 2XHO(HA): make= SAL
Halloween2 =0, a safe and fund day=
SXE0{0|CH,

Reading 2 p.14

1.® 2.@ 3.0 4.©®

Summarize the Text
(1) a date with Stacy

(2) everything went wrong
(3) too little money

(4) got angry with him

(5) ran out of the theater

(6) really terrible
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@Y Mike was very excited. He had a big date with
Stacy.
- excited= IHAHEAR MikeQ| ZYAELE HHat
1 Ut (NOT Mike was very exciting.)

@& 1 wanted to make dinner for you, said Mike.
« EA} wants BXAIZ 202 ZH=Ct (NOT -

wanted making dinner--)

@ The clerk gave Mike fifty cents back.
* give + 7SR + AHSH0: gives F 1Y
=H0E H= +0SA0|C
“It can make you fat.”
« [t2 popcorns 7I2IZICt
*make + X0 + SHHH(SSAD: yous =5
0, fat2 =XE0{0|Ct,

Unit 2. Sports

Vocabulary Preview p.17

A 1.neighborhood

3. league

2. wear

4. experience

7. board
8. elementary 9.teamwork 10. special

B 1.¢c 2a 3e 4d 5.b

5. dangerous 6. organize

& o
board T} experience G&(5iCh
special EE5t E45t wear AEaiCh At

dangerous /&%t
elementary =22 7|20l

organize &H[stCf, XS

extreme ==2| 20!
generally ¥&o=z 7Y
chance 713, 754

Answer Key

neighborhood 0/, ¢!
league 2|71, A
teamwork E?=, S5 2
popular 27| b=, tHESHeL!
huge 7{chist

Reading 1 p.18

1.® 2.9 3.3 4.Q

Visualize the Text
(1) board
(4) careful

(2) mountain (3) exciting

(5) roads (6) dangerous
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@ AERIE 2XE o I MHER 122 FHEoliA= ¢
=k

@ AERE 2XE Q&S ARXO|C) @ AER|E 2R
MED ALt= AZXQ|CH @ T2 20| s H2e Az
CIX| QLUCH

4 2| 29| viZlo| E0iZ L2 J1Y Yok A2?
@ o Alo| & Zo|ct © OH Z=pfotof Sict
@ 7alXoz 2Ealof sitt @ WE =2 XY 4 ot
g7t s 20iA, Hols 28sta, SEet 48 0180t
1, ZZo| ZE 2Msict & o] HZEIRACh wabA gl
Zioll= OHR ZAlshof SiC 7F 7HE AAsict

@Y Every year, people find new, exciting, and
very dangerous sports.
*new, exciting, dangerous= Y2AIE HA}
SportsE AT,
« SYTLAL andE new, exciting, dangerouss
izt
E&J We call these sports extreme sports.
«call + =801 + SALE0|(HAD: ~& 21 F2
Cf
«these sportse S804, extreme sportse= =4
Hoo|ct,
@& Onsome roads, they can go as fast as 80 mile

sper hour.

2t ---3iCF of Sjojolct,

Reading 2 p.20

1.@ 2.® 3.0 4.3

Summarize the Text

(1) play on sports teams

(2) parts of the community
(3) a chance to have fun

(4) teamwork and leadership

(5) a great experience

AnswerKey

f

GL0| M= X[HollE 0IES fIgh A= HO| UFLIN? OF
Ot Z71E0|L OFEI0] S AYUCE B2 X0l oboIE=
{Ist 2IE 2|a(Little League) 0] RuHLCE 2IE 210 E2
derqo= xSstdnt SHUSS fIet AYUCE 001E9] ot
wol= 2AHQ ALX Go| giv| th2ol|, 21E 2|27t gled,
M2 0j0I52 22X YoM FUVIE 2 4 glE AU it
1 XHe| B2 ot Fol 2|E 22 e A=y, 2| 2120
M OS2 THE X[HolM 2 it 7| gch

oIS 210 252 SSA Alele| SR8t BERILC, 2SS 0f
OIS0l B2 S&2IE g 4 U= 7I2IE MSEUC. 0
AE2 Yol UM S2et wEYLLh INS2 £t 0l0lS
oAl Molg A1 M22 THSE A 4 U= 7= MSE
Lict ©2 ofolEoiA 2 2lae ST FEolH, 252 aA
= B 32 V1oL

EXER)

1 9 29 22 2|a(little League)= FAUIF?
@ ofZlo| 7E
@ Ol0I1E AU M22 EF
@ st Axx Tz 20| =2
@ Ol0|ES2 et XY Axx EHO| Chx|
21 2)a(Litle League)7t Z5H
TR0 O[S Mol UMM SRt WwEs Iz
M 2IE 2|0= OlIE2 /Bt XY ARx Eo| HA S

o 4 9l

Alglel St £20]
C

2 2| 29| generally®} 2Jo|7F 7FE HIZBt 2427
@ =25, A @ Axixoz
Q@ tixez sG] @ xR

generally= 'YEMo=z 7, EE 9| 2Jnjo|1, S2H2

£ ‘usually, as a rule 0| QUct

3 & 29| 2| 2|a(little League)of CHet AHO=Z UTHX|

e A2?
@ oIS 2IE 2|a0M TFES AL,
@ 25 211 B2 tE Sluss doiz gttt
2 00I=0] 2 2|10l & Iek= As &It
@ op|E2 2IE 211 oM BRet uEss Hi2Ch
d7lsk= A

2l 2)a(Litlle Leaguey= CH2 StuZ Az
0] Ofiet CH2 XAl = St 47| t

4 | 29| gzl S0iZ L= 71 Y2 A2
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Without Little League, many of these
children could not play on a sports team
because their schools do not have organized
sports.

* (without + BAl~, F0f + ZSAHLH) + SAHE
e 7 1R A ol withouts At
S3Ct =2 SAPL ‘could not play 0|22 7t
Y WS LIEHATE,

« Without Little League = If it were not for
Little League

* organizede IHEAIE sportsE ~AlBiT,

@ The children are also given a chance to have
fun and a way to make new friends.
care givenz THSAS SSEHOICE (SX{0{7}
= 79l 20iS A= A5 F )
F0f + 20ISA + EHRHO + ZRSE0| —
01 + be p.p + HE=HO + by

*to have®t to make= FHAIZ A0l U= HA
a chance®t a ways 2zt £-AJSITE
Unit 3. Festival
Vocabulary Preview p.23
A 1.tradition  2.hang 3. concert

4. strange 5. poisonous 6. popular

7. horserace 9. fireworks
10. myth

B 1.e 2.d 3.¢c 4a 5.b

8. company

Answer Key

% oy

horserace ot fireworks &= £Z2=0|

strange 0|5t concert ¢33 FAME
tradition HS poisonous F=%t =0| U=
hang ZrC}, oi=ct

company 2|At

myth 415}

popular 217| =, CHE=Q
famous #&et interesting 0|22
important £t holiday 252, £
refuse HESICH HESICH

Reading 1 p.24

1.0 2.9 3.® 4.Q

Visualize the Text

(1) fireworks shows (2) 22 years

(3) Kroger (4) popular (5) fireworks
(6) 500,000
W @Hf 20]AZ(Thunder Over Louisville)2 MIAI0IAM 7F
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(c) tr=0ll &

@ Thunder Over Louisville started when a large
company, Kroger, wanted to do something
special for the Kentucky Derby. They decided to

have a concert.

«want, decides= £EAIE 2802 Z5=Cf, (NOT
- wanted deing )

«—thing, —body= ZLk= tHEAL= JEALZL Foi|A]
2AlStCE (NOT - special-something)

AnswerKey

@ After that, the fireworks got bigger and bigger
each year.
+ getlbecome] Hlwg and Hlw=: HA ~aHX|Ct

@&y Today, Thunder Over Louisville is the biggest
fireworks show in the United States.
« Zlelg Bt the + zladg + in E(of S4BAD

@EY They want Thunder Over Louisville to be fast
and exciting!
s want + X0 + SHE0{(toRIAD: SAt want=

to FYAME SHENZ =L,

Reading 2 p.26

1.@ 2.® 3.0 4.0

Summarize the Text

(1) for people in love

(2) some holiday traditions
(3) under the mistletoe

(4) on New Year’s Eve

(5) will not stay together

(2 g

F2|ADEARL Moz AlZE St = AIREH 2 & SR8t
EHE0I0 Ak, =M TS B2 AS0] AHUSTE fle A
olct,

7i9Aolz Jefet HRIEE St A HS & otHolth (a)
72e0l= =M st F2M oot = AE0I0) F2]A
OtA Seiof, MEE2 3529 2 2o ARA0IE Zoiz=0,
(b) TS0l m=H, 2tef Jlof H40| ofzHofM Falef 22l
= UHTHH G2 7|25 2 2l (o) OIX2 A0 At
A2 0| V| w0l == Olds 2LX|= 2EL. (d) SHX|
2t =It FIAE HESHIEIN

T OE SMY 71A TS2 Mol TR EH FARCH Alish &
ofol 12A] Fzjof| Z4l2 Fale| AelojAl 7|AS sHofZh oitt
gil2 of 0[= sfiof2t sk=vt? ofZdol et o] AT

E

Answer Key



(2x2)
1 9 20 FH= 7K U %27
@ Mstis IS0 B3 Holc,
F2|ADpA Holl HSAOIE B 74 Pofof BT,

@ g2

Q@ gtz Mot = G419 HARRISHL GARE0IA
7|AE SHoF SfT.
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@ HH0IE 27| &57| W0l
Q 7RH0|= ol A=0| OtL{7| WHZOlCH,
@ F2|AORAO| F=27M0lA| 7IAS She A2 01|
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[FASHo0l= 224 IAfIeH B2t 0ot Zel AZO0[cE]
FOZl 22 72M0l0| SNS MYt ct. Z0fTl
& O3S seMole BRIE ZalAntA HES A
LGOI LiSloF BiLt, bk 0f7l 50| 2ot QI | |

G According to tradition, if you meet your lover
under the mistletoe, you get a kiss!
» (according to + HAP= * ~CletH 9| ojn|o]
Ct. (according as =0{ + SAl

Answer Key

HHXlE OlR= 7He Y52 A42?

This may seem a little strange since
mistletoe is actually poisonous.
*(seem + (to be) BEAh= "~ A &t 9 9
00| HE'E UEs SE8A A0M= to be
£ d=fet &

s sinces 0|RE UEH= SEESA0|C

@ According to the myth, if you don’t kiss at
midnight, you will not stay together for the
next year.

QB2 U FAREO|ID MHAMZ OJ2HE LIEHA
CF. (NOT - if you wilk not kiss--)

Unit 4. Job

Vocabulary Preview p.29
A 1.continue 2. copper 3. miner
4. actress 5. spend 6. wonder
7. trick 8. hero 9. real

10. accident
B 1.b 2.d 3.e 4a 5.c

£ oy

trick 271, £ miner 2

accident Atal, AR continue AlZoiCh XIS
spend 22U}, XIEsiCH real &H2| ke

actress O{ti< hero &8, #2°13

copper 72| wonder S35t

amazing s2t2 injure F&= Yoi{s|th
excellent 2&¢t EZst serious &2{at TIX[GH

job &, A&

Reading 1 p.30
1.@ 2.2 3.@ 4@
Visualize the Text
(1) dangerous (2) famous (3) born
(4) his job (5) accident  (6) 35bones
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2 %I =0lMolz
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0|2 LIS0| X522 a2toh ALIE =
AHZIAO| MY,
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AnswerKey

4 939
@ olzdol 27t elofeoll 2AIS 2H= olgolct
@ 0|70| NFHEZEH d|HS & = 0|20]
@ 017{0] 7t dlojldz Mol =g a7t & ojRolc
@ 01240 17k AR 7HE S HojdiLo] & o
e BAT ofzolE =76l
H
o

o, Ol U=0| JA 7H =

& He was famous for making long jumps with

BIZH0 S0{Z LU= 71 o2 7127

i
2
i}

0
N
I r
golI
~
HO

=
Sh Hlojoigo] =

>\l
o
_lT‘_

his motorcycle.
» was famous fore ~2 {ESHX|CE ©f 2lojo|ct
» making2 SHAIZ MXIAL fore| SX0{0]C,

@EY He also did other kinds of tricks, but the
motorcycle jumps were always the most
popular.

*but2 XS UEf= %% Eé*folit
calwayse BIZSAE 2
S FHofl 2t

@Y He tried to jump a 135-foot-long pool.
try + to 2-AL ~of1 OMLE
stry + SHAE Al A0 ~3HELCt

+ 135-foot-long2 HA

C}. (NOT -

o?ﬂ
Q0

t poolZ +AlGk= AfO|

-135-teet-long pool)
@& His jumps became longer and more

dangerous.

«become H|ug and Hlmg: H& ~siX|Ct

Reading 2 p.32

1.@ 2.® 3.0 4 @

Summarize the Text
(1) do dangerous things
(2) make stunts look real
(3) to get hurt

(4) go to special schools

(5) true heroes

Answer Key
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ghl2 e HaE U G2 HiIRS0| ofEA a2 =2t
2 Ass o=kl S=sgUl O tiEe dauth B8 250
SHA| S2EUITE AL S oA} tHES0] Pt £9| glet
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So| (22 B 150/ US R UNS UX| 2B

A g 2!
Ct 252 7 RE6HXIX| HsUch 252 Eot HAt et
OiX} HIRE0| He 250| B2 =& EX| ZEUC
A S X} CE S0l QP2 71y St AYuch
gs ol= MEE2 HErEYUn a52 0] EmxE 2
OfA| slof SkX|2, 252 +7= Ctixl= XS Hotkl HsUrh
M2 Z90ll o 39 tig2 RES AL iR AL Hieet ¢
= YU 2o tiAS she ARFSO0| Q7] BiRE THX[A| eftt
O, OS2 iR Zefeh XMX(of wxA 2 JYUCh 252 S5
of stwof 7{ot2t 5k, OfF =&t S0E 002t gLCk
59 €2 dxls $A a52 AN et Foll sHY T
of FS=YUC
1 9 2o M=z 71 gt 427

O s022 275

© HN Haks

©Q oz s

@ TIget N A3

f 22 TS HiRS0| MM HalojA sk= Setnt LS of

i
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S0| B2t 27l L i Z45H0f sk= 01RZ 7t

= g2 Tx7| hZof

= Al g A7| =0l

Impxg] 200kt 57| =0l
Al otH Zetsh Mol kx| | H=ofl
28 2ol THAHIR7E 2V [HIRE TRl ol o1
Bt AX[ofl XA & AoICt 2h= L0 HFERAC,

©
&=
19
jo
on
nrn
-
o

0
™

3 9138 S8 Y 4 Y= ARO| O 27
D 22 ielLS0] KK
@ TRt Sl %2 ofic
@ TIPSR By OHRg MBI
@ eSS 258 8ol 3ot Bt
ToIPES RUGXIE on, HIPSHE He £8 ¥X

Answer Key

4 929

@ o
@
Qo

®

)
Q

il

giZhol S0iZ L2 71 Lo 427
gs ol AMEE2 23Xl
g= ol AMFE2 Ol0R0S0|0t
S sl= AlE2 2edol Zsict
gs sl= AMFdE2 THE7IE0I0,
HiSE2 252l 0| Tmx{Z 20[4| 5ok 5ha,

T OHRPA| siiMe QrE7| mizZof M HatolMd 259

=

—
22 titts] M=2Ael Ao|ct

Do you wonder how the actors can do such

amazing things?

«{how the actors can do ~)= &AF wonder2|
=Hojo|ct,

< UHAEE Ole2 AZRAL + FO + SAFOICH

(NOT - how-can-the-aciors-do )

They also do not make nearly as much

money as actors and actresses.

cas + ¥g + as! ¥g HluEe=z ~0tF -5t
Ct o Z£olct,

» make much money= 2 =2 "t 9 olo|
0l moneye= & # g= FA0[7] mf=0f
muchZ ArEeICh  (NOT -+ make nearly as

FA2RY Money as )

They have to make the stunts look real, but

they don’t want anybody to get hurt.

*make + =X0| + SELO(HARZAD: As
At makes HYRHME =HE0=Z =Lt

s want + 280 + S2HE0(to get): wante toF
HYAE SHE0Z Zh=rt,

If stunt people injure the star, they will be in

alot of trouble.

< IE2 A71E UEf=E 2ARE0| D HRiAIM=Z O
S LIEHACE

*be in trouble® =Zoil WiX|Ct HXGHA| =it
9| Z£0|LCt,



p.34

Vocabulary

A 1.serious 2. miners 3. popular
4. disaster 5. elementary

B 1.© 2.0 3.9

C 1.spend 2. myth 3. costume

4. tradition 5. advice

English Usage

A 1. take 2. as 3. told
.toreplace 5. most
B 1. will meet - meets

. than --» as
. born --» was born

. finishing --» to finish

1T N WO N = N =

. where did she learn --»» where she learned

Making Sentence

A 1. there were cars on the road during the race
2. to learn about teamwork and leadership
3. the biggest fireworks shows in the world
4. since the mistletoe is actually poisonous

5. as much money as actors and actresses

(EXET)

» Vocabulary

A

N oD =
ro

T

o

o =
x
=)
R
N
S
N
s
]
ne
K
£Q
iul

1. spend: OfEH EA0IM &
. myth: A1} HSS0f 2tet AL0ojop|

3. costume: £ AlZt da E= MO SEE UEH=

AnswerKey

0z
>
S
Rl
—
i}

o=
=

4 tradition: 8t MICHOM CHE M2 W2{E 2E{Hd2l]

. advice: =A| aiiZ Lol 2eh zfolLt et

» English Usage

A

[attA]

1. di7h &7 54

=
2 OfR| REXE Tk2lsiRict
3 MUz 2 A4 He =X ®UCkD LUCE
4 T2 49| XA HES WA S HSiTh
5. L= &0I7F Mol 71 OFSth2 £0[2kn 42I5Ic
[at&]
1. =d EAFEIME SATHAAPE DIHAINIE LIEFHC,

2
3

4
5.

as pale as a ghost= (€=0]) m2|5t0 2| 2|O|o|ct,
was tolde 24 SAt told9| #-SEiz "EQICE 9 9|
o|ct,

SAb wantz toREAE AR A=

the most 049)#(%1%) in &4 the most beautiful0] &

[5HAd]

1. 20| 19| RIHFE WY QHITHH Tl4= AAOIE EfY
4 Zdolct

2. iR S&0t= HMol&e| AT nE0| Bt

3. JiMEE 2EoIM A QUX|RE IRe|of A EHOGTE

4 = Jbsct el 0o dg EUV |2 ZE3I

5. 2l= 247t il BHE HIR=R] SS3LCE

[5H&]

1. 2 SAFEOIA SIXHAIMZE Ol2hE 2|oletc,

2 as YA ase BF HlW BEoZ ~OIF --5F 9| 9f
o[o|Lt,
EHOISICE of YTke HH2 ‘was born’ O|Ct,

4 decide= toREANE SX0E Helh

5 HHOERQ] Ol (QI2AF+ 301 + SADOICE [t
where she learned”t Yate H30|Ct

Answer Key

11
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» Making Sentence

A 1 vt ZF =50 XS0| Zof o Oz U 23

Haet S£2E HiE

2 2§ 211 EE2 ofolsoiiAl 2
U 7122 MEEUC
3 MC @uf R0IAUR2 MAIM 71 2 =250 & S92

~

CHAPTER 2

Art & Entertainment

Unit 1. Music

Vocabulary Preview p.39
A 1.candidate 2.term 3. focus
4. social 5. talent 6. attention
7. behavior 8. violence 9. culture

10. encourage
B 1.b 2e 3d 4a 5.c

& ofg

term 80, &

attention 2| 2

culture &3t

social Af=|9| Atg&Ql
violence == behavior &=
encourage 2z 1]otct focus H&ESITHAIZITH
candidate £=2Xt talent X As, 27|
similar HIZ:2l, FARRH
hate OIIStCt

upset &5 OF50] A

create &=oiCt PHSCE
insult 2= ©25iCf

ro

Answer Key

Reading 1 p.40

1.0 2.0 3.0 4.Q

Visualize the Text
(1) Simon Cowell (2) American Idol
(3) comedy (4) singing

(5) plain

=D

(6) performance

2efH|d 2Rl (EelEA A HE)E (OfH[2|Zt ool=)
O HAIR[ER! Ato[H Zeo] = AYLICy a2|n T g2
Lol =8 S5 Q= (OH2IZt ofol=)at 1 HIREfL T,
SIRIZE (ERIEA U HRIE)= 2E HoiMe 1 2N &7
YU X[EAE2 Sah 20[0]2t 20| o 1Hs0l2t= B 4
UGLITL SAS0| ol o 77HdX = S0l o5 THAS0[ &=

20071 Olez 1 mEIMS ¢ HMefo| Auplo] ARSS
B2 siEdrt 2 2, 200001 3 =

(EXER)

1 9l 29 FH2 7K Uare %27
@ ofnf2|7t ojols m2 2
©@ AR Ho] T
@ Lals|x & (SRlEA 2t LRIE)
@ 49| 2RI 01|

9 22 el m2 IRl (HRIEA 2t BRIE)0| S

2 2 29 show offe} ojof7t 74& HIZst 2427
@ Xifotct @ FAlstct
@ FA5tct @ 2xict

show off= XigsiCl, ZtAlSIEE 9 Qlojojl, solo2=

3 929 U8z
D AfO|H T

@ (E2|EA 2t HEE)= @& &1 F0|0|2F ST,




(Ott2]Zt ofo|=) 2t (B2|EA Jt HRE)= ]

ClI=A

A
AN
|2= OHEXO0IX] LAXIE, =2k2 =242

29| HIZiof] S0{Z HE0=Z TRy L2 A=2?

EC ! @ =dsl=

A7t @ oE ™

7F Yoil= SIRE Afololl AERE EIACE = L0l Fofl

€Y And the idea is quite similar to American

Idol, which focuses on singing.

+is similar to: ~2t B[R AHSICH

swhiche ZACHEAL ALE SHo=E MiAl=
American Idolo|Ct

- focus on: ~0fl &Ealct

Losers are chosen each week, while winners

get closer to the prize.

«get closere A& O JI7IKXICY 9 on|=
(get + HlmzhHe MY O ~aiXict 2= 2ol

L,

Since 2007, the show has entertained

millions across the U.K.

«(have p.p. + since A Xtz AMZ
(XIZ7X) Al ~aligict & LiEHACE

< MREIE ALl QoY o £=2 for(~32h),
since(~0[2H)2t &7 AFZECH,

A candidate named Susan Boyle shocked the

judges with her singing.

*namede IAZASEANZ AL a candidate
£ AT

* shocked= &l =22 SA0[1L a candidate
7t =Ee| 00T,
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AnswerKey

Reading 2 p.b2

1.® 2.9 3.© 4 @

Summarize the Text

(1) an accepted word

(2) speaking badly

(3) aware of social problems

(4) between rappers and singers
(5) to abuse one another

(6) lead to violence
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of chgt ojHs d=da| Witk o <fojojx, S902e
‘criticize, find fault with’ 7}

3 929 e ¢
O MEHE2 HAsks A2 GHI0] 252 Adofetth= Aok
@ A= ARHE0| A=
B CIAE CH2 A0l CHeliAl Lt Lsk= 242 2iolsic
@ CIAE TS DHAIQ] efmet 715 AOJ0l|IA] 2 Uof T
(AN TIAS o2 AIME0| ASld 2xXilof 2tilg 2

Al S 2 UCF = UE0| AHZ=UC

Rall
ol
el
52
rr
SN
ro
D

4 9| 29| gz S0 HE0=Z 7
©® 2Lt @ 7t
Q@ aEX| peH @ o=
TIA0l AR2IA 27Ol ACF = Uizt 0l248t o2 ‘Ofefo]
Lt =20f chgt BitHel =A2|E Hot = eSS gizfo] 0]0f

1 QIo} maty BlZioll= OflAl of HZO7E TR YR,

mn — o
a2 10
&

0

N

rlo

D

0R0
]

@&J But dissing can also make people pay
attention to social problems.
*make + =X0| + SHE0(EFREAD: AFS
Al make= HYRHAME =HE0= =Lt
* pay attention to: ~0f| RLlolCt, ~0f F=olct

@Y This happens all the time between rappers
and singers in the media.
- all the time2 LiLH, &&= 2| 9|0|o|ct (= always)
* between A and B: A2t BAO|0f|

@EY It encourages them to insult one another or
make mean jokes about other people.
encourage + =X0f + SHE0(to FZAD: ~

7t --oles Ao ZAGIC
« SATEAL ore insultet makes HZAGHED
*make mean jokes: HIZBHAAR] SHS
Ct [mean: &ARIE]

AL,

ol
—_

@ 1t is bad for rappers to encourage this
behavior.
oIt + be + A+ for 28 + to SAEY
«t2 7tF0{, for rapperse= 204 F0, to

encourage this behavior2 ZIZ=0{0|Ct

Answer Key

Unit 2. Movie

Vocabulary Preview A

A 1.industry 2. ceremony

3. meanwhile 4. serious
5. Indian 6. unsuccessful
7. religious 8. poverty
9. capital 10. costume

B 1.d 2e 3.c¢c 4b 5.a

£ o9

capital #&=, SaX] industry ¢4
religious Su%2! Indian ?/=2!
costume 2=, o) meanwhile 1 520l

poverty 7t unsuccessful &S| =ot
serious 2{et
refer to LIEHHCE, R1=0ICH

glamorous 0f20] EXl=

ceremony 24
career 2¢, 29
favorite 0 Z0tst=

be known for S&35ICt

Reading 1 p.bb

1.® 2.9 3.® 4.0

Visualize the Text
(1) Indian film industry ~ (2) more films than
(3) dancing and singing  (4) Nigeria

(5) second (6) more serious

2E|REE 2= AIRFS0| Ol AOX|2 Z2|REH Z2lfE
= OE7R? (a) gElREs 2= Jat NS 7iE7= 0I5Y
LIk (b) O Ql== 0f=E 28t MiAIQ) OHE o L2k SE

-
0

o MaUth o2t =229 Felz M O o2HEith &



& TH0[Lt of=al7te| glmup 22 SWXO|ALE ASEel &=
ME CHEUL
1 ¢ 29 FH=2 7 992 22?
@ R Le|RE AEE
© Ze|RE Fate| JaE
@ Q=0 Mo Hat A 1y
@ Y2RE s2|1RES EXE
? 22 2l Fst At(Le|RE) 1t Lio[X|2|ot ot M=
21fE)2 Alfet Zoict
2 2| 29 refers to%t 20|17t 7+ BBt A27
@ BHsCt © =tk
® 2ojatct @ Yo7t RLaict
refer toe ~2 7t2|7|tt 2Jolsiot 9 S20]1, S92 =

‘mean, signify, indicate’ 7t QUL

3 9 20 Hiziof Sofz S0l Y e 242?
@ cizof, F712 @23 30
@ 25t @ Zuxoz
Ol Wl &, 2, 2MA S0| Ho| Li2Cf & Lig
ol AT SlRfsICt = LIS B Ol Halo| SN
Mysize Hlast MZHOIT matN BIzi s

4 20| 52T IRl 2H?
Qlzof s} Alelofl CifEt 0[0p |7} 0JoiX| T Q= F2tol 0]
2 2lst MIO| Ci3H BRI A S0f7t 20| xjetad)
2 522 Wasin oo2 HYS (0ol

@& Every year, India makes more films than any
other country in the world, including the
U.s.
«(H|Ig + than any other + HBEANE AlM=
9| on|E A L2 THE
. ~gf 9| ojojo]ct,

«including2 MxAl2 ‘~& ZZ&t510f 9| S=0|ct,

@& However, Nollywood films can be far more
serious.
« much, still, even, far + H|ag: H|ug AXsh=

HHOR ‘B of ojnjE 2H=r}

AnswerKey

Reading 2 p.48

1.® 2.9 3.0 4 @

Summarize the Text

(1) has a long history

(2) the movie capital of the world
(3) to start their careers

(4) to become an actor

(5) go there to try

gtlo] 71y Zofeks At IRt KA HiR= =1l
2 FHMRAL APt 2= AE BP0 et ties2 ot
El, Hat, YAME Safl oi=Hel sl YEM 7hs AxE 22l
giof FAI0| 3ot 7EHet et HiR7F =1 HCHEH G2
2[R0 7I0F E HRUF ACL S, G2 A9 BA| 2
XS =2 L2lolM REt 8i97F 2 4= Tk SHRIZE 0|
x719) & IF2L e (L E27F 2l HrhE, G2 22l
01| A0{0F & HRIt UTY
L2|REE AN A ‘RAEP. O X2 gatel 2 GAE Hn
ATt B2 7 AIRFE0| 259 F2lE 27| flal gelRez
AL M0 S0 M, 2 = Eot ORFETIXIRAC,
L2 =8t F250| PRIREERH LR, 2 J3X2 MAC
ot SYXF =Lt
2|0 HIR7E 2= A2 EX| @ (a) R0l B2 AR
S0| REEHX|L APt =t slYs e g2|fe0 2T
(b) FH2 HSaotu FH2 IEX| =ei, (c) Amgh HieS2
H2 a0 252 S == ooy flal CE AYsEs
b 2 0I50| Hdut Fofl o

(2r#)
1 9 2o M=o I Yok %e?
@ 7} Scks 2
@ geles9| 71g
@ 71 Q17| QU= A B2t Oix} B2
@ M| st B4R

¢ 22 eIt =S HetttH 2elRe0] Jioket st
X2t geREolM vif7t B A2 fX ok 1 Y5t

UL,

Answer Key
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2 | 29 glamorous®t 9|07} 7HE HIEE 2427

ORi=t @ »rfAg2 p.50

ORI EE=N] @ Hx22

glamorous= OHEARI, =l O Qlnjo|1, SCloi==

attractive, elegant 7t QICt, A 1.social 2. favorite 3. encourages
3 9l 20| LigH YRlGHR| YE X7 4. ceremony 5. culture

O ERIREE &1 922 FAO|, B 1.0 2.0 3.9

© g2|RcE gsto| 71 AME 2k Ut C 1.poverty 2. candidate 3. attention

Q@ YeREE Ml Hat Mgl Safx(o|ct, 4.violence 5. costume

@ E2 MNHE2 IRt =7] oM Z2IR=0 2Tk

English Usage

LR|RETH B 222 YAks WE2 USR] EUT,

i A 1.composed 2. forus 3. boy
4 2| 20IM CHS 2E0| S01E /XIZ 71 YR A=2?
_ . to see 5. to bu
SHXIZH 25 & B2 0150 Pzt 2of ofst 259 & Y
_ . i coe)
245 mo|5HA| orert B 1. making--» made

o

= LS
20| 524 ‘HelPcolN SeUs Asiert H7Is of o DAL o et
Xlgt 0SS BE 2R Zloix| YT 24 sfof Aol

Ch W2k 01T 2E9| Ys2 fIXk= (d)olt,

. engineers --» engineer

. getting -+ to get

TGl N WON = BN =

. posting -+ to post

Making Sentence

= oI S .
A 1. while winners get closer to the prize
@&J 1f you want to become a successful and 2. encourages them to insult one another

famous movie star, you need to go to 3. more films than any other country in the world

Hollywood.
« SAF want, need= toRHAE SX0Z ZH=Ct,

4. with the hope of becoming famous and rich

5. have religious or social topics like war
@& Many famous people came to Hollywood to

start their careers.

‘o Starte toRPAL BAN SY(EH)oz £ (Ersid)
~ 17| Sfsiof olc, » Vocabulary
. ’ . SIK=ES = = \|l5|X o= b5
@ The industry quickly grew, and so did the A 1 ZEIXISE Yt oinig Al 2500etn 2t
city 2 oS o U7t 71y SORIE Heuix ZRaYe 2y
+(s0 + SAL + FOP= 2EINo| SXRBO= Yo e
A Bt 2o| CHel| '~ EBF IZCf 2f= ojojo|ct 3 MAHE SHMS0A SARE 0SS A2 vl EEeiCt
so did the clty = the cily grew quickly 4. RIS I3t TAA0| HABH A Lofl FHaEIUCH
5. 22l0i7 5= 2315 AJfaH FARIR?

too) : ==f

=0| MXIEIK| oK rst =o = o
@EJ They have to find other jobs to get enough B 1. 250] grotrl it LeloRM 252 285K oie,
X

money. OFC @ 71 A3 Bich
+10 get2 ORI RAIE| 2Ei0= 2N Lfetict © ssict @ BRIt
Pl

(= in order to[so as to] get)

16 Answer Key



A

3 E0tAE 09| AN SXs Zdoly| oM LRI2IE HE

1. poverty: EIZ6t A% E=
2. candidate: 0 X2t H
LiAM A2
3. attention: 39| A MZt5HALE QA
4 violence: A0
O
o

5. costume: Hi

3. Ul 0isd2 19| stgolM o ChE AEE0 o 30

4 OH 20z o B2 A2t O B2 7H=0lEs = A2
= ojledeic.

5 JU= THAE A| ffal A-E0| SR

[att&]

1. (BAF+ TARAD 22OR efie A=E A 017

HO

0l composedZt Latct

2 (t .. + for 2 + o2 HADOIA 0|4 F=0{2] Hef
£ for + 2Xz o|ct,

3 (HlRF + than any other + SHEHARE EAZ0 20|
0|1 EIHAE BIEA| MOF ST

4 S expect= toFHAME SX0ZE 2=

5. to buys 2EAS] EAE SH(EX)o2 A| 2loto]
o] ojojolct,

o

(st
1. ARSol HMetel 9|50 2o ES UL,

2 O3 28 L2 Aot He 2R,
3. O= =AMolM o CHE o II'—INEEF O <E=UC
4 =22= O|AE Hoil 7t A
5

[5
1

_|_

NES 2 A8 syt
 HEEE HXE 2X7] SN A=l 2
Hd]
‘o]0 MlotEl Zd 0|22 suggestions made[HZAN
7h Lok o),
2 It ... of BX + toRTANTELE TIF0{| Y2
Ef= o forget OICH
3. H|wZ + than any other + EHEAPTROZ HaH

AnswerKey

At engineerZt Y52 FEHO|CY,
4 hopets t0EFMNE SHM=Z 27| R to get 0] &

5. 2Tl RAH 8H(=A) ~317| l5iof 7t Hesitt,

» Making Sentence

A 1. &XE0] Mo

O 7eiXi= 2FS0il o= HARS0| &4

xl|_||:

L)

2 O712 T2 ARME0 sl L sEE 5L 010|S0]

MZ HIEGIES SR,

3 0 Q== MAIS TFE O L2tSEd FseiE o Bl
oLy =1

4 70| B2 A0 gHEiXT EAPt St S|dE
o1 SR PE0)| ZiTt,

5. &5 of=Za(7tef BIZ0[L} Mt 22 SWX0|7 L A
Ao FHE CHEUCE

CHAPTER 3

Unit 1. Psychology

Vocabulary Preview p.55

A 1.muscle
4. patient
7. opposite
10. scratch

B 1.e 2d

2 o3|

liar HA 20|
=]

direction 2/
muscle &
patient txt

fake 7imtel HHzl=

2.insomnia 3. liar
5. direction 6. pill

8. fake 9. medicine

3.c 4. b 5.a

scratch Stt
opposite Brch
medicine 2/g}, 2=
insomnia 2%&

pill 2o x|

Answer Key
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nervous =? e[ Z=xal]st=
break 7iCt £4Ct

recover 2/=5iCt

exact Hef

suffer A|lg2|Ct 15 BTt

Reading 1
1.@ 2.0 3.®@
Visualize the Text
(1) touch (2) right
(4) ashorter form (5) mouth

=D

= xols
of, gl

p.56

4 @

(3) same words

NEHSO0| ORIl 5T 311 QUK OfLX| YT ALR?
55 NYH0ISS A TBD AS VAL 22 TS
C} 0l= 50| EX5 Btk %S Hof FAIL, [1g0=, 0|
Sl= YHE 150| HATS 5 UK YeiE 4 UL
QEATIOIS MRS B 1) 22BS AL BUL, BATO|=

Jelm ARYHOPE HRo| Tt Chge B o,

0| "Did you break the glass?(Ul7t 1 &
M J= “No, (a) | did not break the glass. (Ot f

o
12 472 22
=

H
i
jo

THR] Et01) 2t ol AJYUCE (b) DIX[ez ANLZS

H=
m 2 MOl H= Ze2 /IS Melstus E2 SAOIA] &

o |mor

AU

EXER)

1 929 =2 IRy wge 227

@ HAZo| tiefet 0lRE
@ AL TE Zus
EPUL s

?l 22 Aotz MEES iUt HEE of et =0|ct,
2 2 29| BIZf (a)0ll E01Z Y= J1E U2 H27?

@ W7t 22 K| AU,

© o HALS st RUX| QLot,

@ 1 dS MR LU0,

@ 1 Z2 L= sl 77l Zdo| otLof,

217F oM AZLHol= 20| MO HOE a2 0|8

SlH, ZUFPS 8| fh= dgo| ot 3ies= | did

t break the glass2ld CHEE Ze *58 + At

Answer Key

3 ° 20l Ag=X| U2 A2?
@ ZE F= A2 HAEe F=olct
@ 20l LS g o AZS 20
Q@ HATHIE2 HAZE & 1 =S 2Lk
@ HHTHoIE2 &5 Ml 5= She=RE g
20|c,
HAZY0l9] EFe= S0ILt HEIE Hude=RE Fe|
Sith= 82 SR T,
4 2| 29/ EE T 2 (D)o FES 4 s W27
@ ¥l S2Yo| T MAXMSELD o S0l
@ T 22 1 Y 2= o YSdHor Btk
@ Tef TAEZ &711 AttH S 0| SHM= e Ect
@ O AlZo| ZIMg Ue mf ¥=2| Z=]0| ol SAIY
20[c
S g tie Yol Z=S HMelet TE I5= MEoK| ¥
= A0t ez Tz 00 [ tie ol 2=t 0
L2t =9 K2 255 AMEEITiE AdE F2E &+ QT

&Y Do you want to know if people are lying to

you or not?
< IfE2 HARZENM know?| £X0{0|11 &2 "~
X| OFIXT o]k,

(= whether people are lying to you or not)

Next, eye direction can also tell you if they

are lying.

« 0] + tell + =X0] + X0 SAl tell2 274
SIS =0,

- ifE2 AR SAt telle] =00,

People (who like to use their right hand) look

to the right when they lie.

s BAHHARE(who like to use their right
hand)& At Peoples AIBICE

« 2X9] Z0{= People0 | SAk= lookO|C,

Finally, when a person is lying, muscles in
his face will not move that much except for

the mouth.

I

2 UCF 2

ol

+is lying2 SRIZIS0l AR
olojolct,

« except for + HAE ~S Helstn



Reading 2 p.58

1.0 2.3 3.0 4.3

Summarize the Text
(1) anew medicine

(2) a fake drug

(3) suffer from insomnia
(4) treat their illness

(5) strong belief can help

f

2 2 S M= H RS0 M22 ofs AgisUHCEL I of
2 =UEE A=o| fIgh A0IMsHCE T 50| ARSI
M22 g =S AZEUCL TE 50307 (a) 7t 2=
FUEUCL a2 TR (b) HIEFR! HPOIX(R, M 0IXE 2
SOl ZokA| E_AEHCE M Z = A i 259 46H0| &
= 5| & 4 AU TsUL M (o) M==2 20| 51t
7t EQUtks Aol 7[20] EUXIR. 22|11 SEAE, = B 2
FO MEE & = IRIS0| ¢ oY 2Bz 1Is K|
AT FRMELICE OfEA o2 Lol HoRtE7ie? as2
ofo| Xtlol HE X=ol & A0I2k = A AYUCE 2
= & LR oXI0f 2240 (d) DIgQ ettt ZRACD K]
2l M= Zot U350] BXE9 Hol H= o =82 &he As
THEUELICE,

EEER)

1 929 FH=z 71 g2 A=
@ fIoF &1t @ M22 °f Alst7|
Q@ =2HEez s ¥ @ H[Ef2le] 52
¢ 22 MER 22 Algdoks oM LiE ool sat
2 ®1f £ OF 20[ck

“They strongly believed ~"0lAl (2] 320 Cish) &

ot 25 0] 350 =30| =UC= AMS & 4 Tt

AnswerKey

@ 5 ¢ 252 XHIQ] Holl thahAl AXZE T

@ YAk= F =W 50| HOSH| & 4 gig Zol2t of
=34t

@ = HW 259 =ek2 XAl 7wt okg HRlchs A
L0 UALCE

And to my surprise, ~"0IM QA= T I 2S0{A 7t

ys
ofg FUW| tzol 2529 EHS0| WAl 42 Aot
o

@EY For several months, I have tested a new
medicine on my patients.
+ have tested= PIXE AMZE ALS LIERHACE

(have p.p. + for 7|12

@Y 1 had fifty people take the new drug.
* have + ZX0{ + =XIE0](take): AIFHSAL have
= HYRPAE SHENZ 2=t

« take: 235iCt

€& And to my surprise, half of the people in the

second group also said they no longer

suffered from insomnia.

+to + 2RAmy) + &S surprise): LH7F =&
A=

«(in the second group)2 MXIATEZ HA
peopleE $AlBHCt

*no longer= ‘M 0l& ~OtLIC} ©f ojpjolct,

(= not ~any longer)

Unit 2. Literature

Vocabulary Preview p.61
A 1.difference 2.scary 3. share
4. produce 5. publish 6. female
7. lonely 8. tear 9. century
10. literary

B 1.b 2d 3e 4a 5.¢c

Answer Key
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& of%] 2 GXpt EREQ =2 Rl 8t fRlez J1y sk A

5t 2 5t orgy
female 014 04X12! century 100 =7
difference xf0| share SR5tCt @ SR 120 |1= Alo{sHA]
literary 25} publish ZHGIC, 2HlSIC @ YR 20 Fst MEHIA
scary FAZ, dles tear BCf, =0t @ TUO|7F HRIZ A2 msHA
lonely 2|22 produce ‘AtsHcH @ LEXto] 2010] 11240[2 Al0f5HA
Ei‘;“iﬂm :i:gji;* SRR 20] 2t Ol & B2E0| =2 TR Btk
admire Z25/c], As(C) 3 9 20 L8 Yrlsix| g 227
@ Yxis B2E9} 10 0jLIS Alsfict
. @ ZEL A= ojLel AN BX| 23ict
Reading 1 e @ o=t 2R ZE 20| R KIS
1 20 3.0 40 @ Wxi= M20| Ze 10| E2ES S0fic)
Z4200| B2 5121 H0l0] AN 21 Y= ZS nYojs
Visualize the Text Uz = LBOIA 20| 10] ofufel AiS BRISS R
(1) The Black Cat (2) horror =5t A olr}
9 cruel @ cat's eye 4 920 Bzl Sof B2 I4Y YVS 427
(5) his wife (6) behind a wall @ 22 B=r}
@ tiAl g ol
m @ BRE9 ANIE &7ICt
Oh=t e me olRo| JE Sust BES At 19| @ 2142 2ol Lttt
e e R QIZH S SEOIM URIE 20lel ARIE = S0l A7t
S mmcoi S 2o 19NIE Zope Ll 0ol el = g0 oIZERU| TR0 HXb 1ol Al £0IS
o Ole 2wk 200 Fsh nolel 2 CA B RS 2E e
O, 0] & 0[52 DY0l= WXIS A WRILICL TN PRl
2E= ZQUC oL Y 1= 2ol 22 DYolE B

o EEKT

@ The story is about a man who loves his black

g0 gLch Jo] 2olol 2g 9| miEol J= Uil IH3E =
LiCH ZEES0| 2 34| 3l 40| AAIS B i cat Pluto.
QILICH AZE0| 2 3 s, J= 159 ARXS Y FHof :
= ==l : = T « (who loves his black cat, Pluto)y= ZZAICHHAL
Ut JL ZEES Y FolM olMe 28428 E&LT )
Sgdch a2, ZF FlolM ol 254215 E&LICH HE OiAF 2 manS AABIE
OS2 HE sigHth I52 Bolof ARyt 20 = e 1
oF0|= 2SI |CH @G After this, the cat keeps avoiding the man.
skeep + ~inge A& ~alch 9 <jojo|ct,
{_E_Jiﬂ sHJg\ (keep = continue, go on)
1 The Black Calol sigfot= 29| ER2 7 H= 227 @ He hides her body behind a wall so that the
11 AAM g .
OS2 44 police can’t find it.
© GA A

+ (s0 that 04 + can(may)~v& SXE LiEfli=
(©PNPSI EAREO|C,

+50 that &0 + can't [= in order that &0 +
can't]: ~oiX| L=E

20 Answer Key



Reading 2 p.64

1.@ 2.3 3.0 4.@

Summarize the Text
(1) were quite different

(2) visited many places

(3) quite a lonely life

(4) excellent literary works
(5) they were women

(6) praise their work

SIS SS0f SITHEt oY Zbt B0l UIBLICE 71 Sicket
At B S g2 10M7] AIRl Aol QAEID ozl Cizide)
LICE O] 5 o182 % JHx| BloIA 1 ZRBLICE QAEIR of
71E0| 20/, B2 FTE0| UUBLICE U= ofzf BA
S YRS HB0| CIZIA2 U ARISS Bl eits
Lick, Zapom s As| lzBALICE 0f2f8h XtolHof
= 2751, 152 22 2YS UksU F it 25 28
o RSRiES MTAA 1SS E2 MBsN 2BUL F
23t 025 B2 50| OXIA7| HEYLICE QAEIS CixKY
7] 20| 1140] 0SS Mofl A0[X| UUBLICH CIZIdo| AHE
S W47t F2 wK| SEER} /K| YQUALICE 250 Alrkol
IS2 NTSHK| RYXP, 90| BE AISS 150l NE
g =iy
EZER
1 920 2xjo= Jhy wgre %27

D SSIEZ0f theh of=517] 95

@ ot 2710l chel EBS| 2isi

@ 5 Zto| MBS MUY 9

@ 5 Zto] MZnt MS vlwsl| 9

TS ORIt Ololate 0lRE 4B5HK Rt S of

5 mpto] Mnt H=ES blmsts 2oict

fortune O] RUCE

3 # 200M M2l QAEI et HFoZ 82 W27

AnswerKey

O 24 =2 &S U
@ 4= H2 AIRHES ZX| RRUCL

@ 249l 0IF= 19| =t
@ a49| 2E2 a4

@, @ @= o2 o

10
ial
0 Ojf

Off AOIX| AUt
=S H7EK] STX] LUCE,

IZ0f et 2Fo|ck

A

:

|'\LI
>

4 % 29| gzl S01Z Y= 7K Lok A2
O® 259 2EE &8
@ 259 XIRE ZYSTY
Q@ 359 AlZ s fAlRT
@ 59| HgAZ AEIZS HIERIC
g7 A2 F g A7PF 259 Altiol gSakA| R3ctkat
= USo|ct gIZtef g2 g t

@Y There have been many great female writers
throughout history.
*have been2 oiXi2tz AlK= ASE] SR
X|9| Ass LIERHTE

EEY Despite these differences, they shared the
same fate.
+ despite + AL despite= MXIAR ~O|lE £
st o ojojolct,

(despite = in spite of)

@EY Even though they weren’t successful in their
time, all writers today admire their work.
«even thoughe YEE LiEE FEAE =2
HIZ ~OIX|2F O|ct,

(even though = though, although)

p.66

Vocabulary

A 1. literary 2. fake 3. scary
4. patient 5. share

B 1.O® 2.3 3.0

C 1.tear 2. medicine 3. publish
4. female 5. insomnia

Answer Key
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English Usage

A 1.who 2. despite 3. Even though
. so that 5. embarrassment
B 1. which -» who

. Despite of --» Despite
. Even --» Even though

.such -~ so

g A O N == N =

. disappoint--» disappointment

Making Sentence

A 1. People who like to use their right hand
2. they no longer suffered from insomnia
3. so that the police can’t find it
4. Both writers produced fine literary works

5. weren’t even published until after her death

(EXETED)

» Vocabulary

A1

J= nsctug gt 20| 2ol 25 M= 2VPL
=71E B

2 g BE Aoz Us TEL ZINE F8g »
UL,

3 Ol0|=2 Ot4, OHHAL T2 OE ZMZ2 NZs=2 =8
SR St

4 X|Ho| B2 SA2 BAC| HE 2l== PlchM S0
SIEEX] =t

5 = 247t OfztE W M B9 o2 disdEat g 1
Lol ghs SHEIUCE

1. SfliE2 150 FHX|e| oot PIXIE LTt
@ geket @ Eitie] @ TE @ HIxgt

2 02 2lAel 2HE 2EXIE 4 U HAe =HoIT
OgY 08 Q=2F @A

3. F2= =AM 0l0|SE wKdts 29| LAl el g2
2 &8eitt,
@ 7t @ &gsitt @ uSHt @ 2l=sitt

2. medicine: 18s =totLt HES X|Zoh/| floh A2

Answer Key

= =22

3. publish: SAXQ! HOHHIRZ]S RfchAM QlaisHcH
4 female: 01015 S 4~ U= oy 2

5. insomnia: (Hol) &= A7| 0242 2stX2l S

» English Usage

A

[aHAl]
1. L= DS8hm 8t X% o{AS ot
2 22| A
QullEl H2SS s UCt
3 B2 U MU DTSR 4 40 gl
o =)

=
4 U= A9 7HE

m
>
0z
o
=

2. Despite + BAk despite= ®XIALZ Fo| HAP} L2
Cf. (though + 0 + SAL 30{ + SAD

3. Even though + 0 + SAt~: even thoughe YE
TEAR F[of 301 SAZt LE2L

4 (so that =01 + can[may]l~)= =82 LE= 722
2 &2 '~olr| flatof ofct,

5 (To + 474 + ZEIAH Hio=2 ZA™S LEf= ¥

AP} LigloF Bic,

[attA]

1. MEAZE ARZ0|D 3240|122 which CHAIO] who?t
HFE HBI0ICE

2 Despite= ™XIAO| Fo| ofE AeksioF ST} (=in
spite of)

3 5 Uiel 28E e EEAVE HRstn oy ¥
F&AL even though?t LSt

4 S82 LEUE E92 (so that 0 + SAHcan, may
SAFEZ)0ICH,

5 (To + A8Z + ZANYHADHESICZ HA} disappointment

7t sttt



» Making Sentence

A 1 2248 MEsiE ARIES MAZS & 1 2222 A

o EUct

2+ 2 2F0| HEto] A—FS0| AMIS0| e SHES
2 SR GIRACH 23T,

3 ZES0| 2 2| slgfn J= Ju9l ARE ¥ Fol &
g

4 T AU 2% S8 BolAES YUIREL OS2 E2
SESHA| 2B,

5 CiZieol M52 a4/t =2 Uik SR} DX I
SUCk

CHAPTER 4

Social Studies

Unit 1. Communication

Vocabulary Preview p.71
A 1.emotional 2.insect 3. solution
4. attract 5. end up 6. suggest
7. protect 8. independence
9. information 10. tongue
B 1.b 2.d 3.c 4e b5.a
& o
end up 2= ~0[ =ICt tongue
insect 25 information &=

protect £s35}Ct

attract Oi=Al7|C

solution sz i
communicate 2AASE oiCt
support A|X[S=]5ICH

come up with Z0fUiCH LS

emotional Z&%C!
independence =2
suggest X2faICt
different CH2

focus &&aict

AnswerKey

Reading 1 p.72

1.@ 2.@ 3.0 4.Q

Visualize the Text
(1) information (2) independence
(3) solution

(5) share

(4) emotional support

(6) understand

6

2 NS 20| THEA == HeIS
Ch ol gRiet Hite M=z oMASSZI7F 28H 0
K7 QfLfsiH HAIRL OAZE O M2 CHE WA 2 0f
7] HZ0I1XIR. gXtolA| tekes 2E 1 Xjle]
]

tlLC g3 OfXtollA| chele TEgat M

=5

HO

27
t

o

;

k=2
=

ol

==2=1PN
=Kl

A OH

ROl ZME GXtollA 0l0F7 ettt 7Hsl SAICE
am "HXhs 7hset wel o2 Uots HEele ol S A
YUt (a) 27t siE Yets MAlet 20l= tiets agksUC

Z 4 2iLCE ool 14
, SiZ=0] OH|7| [H=R4LCH,

| &
(c) 2= ©R| AP X9l ZHEE SFola, XIS OlsHsh
F71E di2ks AO0IXIR. (d) OIXE, M2 THE 2MAE &AI0]

(EXETE))

1 922 o 2FOR QRIS 1f T4 U 227

Esic
@ 2XIet ofte CHEI2 SsiM 250l 2HE sizstein
= 2{50F Bir,

@ S M0[9] 28li= M= THE OJAas ZA{0f 7[18iTt
=29 FHZ2 F BN 280 Ml B 220

=
=
oM CEAl Bt & FHIE ZZ=ota U,

2 % 29 focus onit QJO|7t 74 HIEE A27?
O A5k
@ ~0IM ChE Rez =20t

focus on2 EHoICh, =S WP 9l ofojojwn, S2/0]

Answer Key
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Rl
o

GXl= BX] M2 THE HA{2= 0[0f7[BIT,
PSS

= =
H2S H1 ARIel =EME E5617| #fsl OloF

NS
N oo of
Rl
Ir

r

il
il

@)

o @
[l
oorr
fim}
fon
i
ofm
:lol__l
>x
[0l
x
ikl
ro
|.|-|
o
=]
:OII__I
MUY
12
1o
ne
N
i

@ OiXt= HAPE ARe HEE SRFoll Xfls Olslshs
712 BT
CIXIS0| Boh= A2 HMAR! =20IX], siiEA2 ofCy

2k= LE0] eig=IUCt,

4 % 201M THs 20| S01E AXIZ 71 L2 A=2?
(22t 0zt Tl49] S AGHA| SiLICE]

=
=]

FOIZl 29| thise €A} il E
SiEX MAl 20il= e 2ttt
(b) O[5l A7} A2

ol 2&2 (b)ol 01710t A

e Lised i,

& Kotk ae2lu

0
uu rr
ol

~
AN Qlooz F

o

M
%
_O'ﬂ
o

@ We often see couples who end up fighting
because of miscommunication.
+(who end up fighting ~& ZACIEAREZ H
Al couplesE AIBICE
«end up ~ing: &= ~at7| =t
* because of + EAE ~I{E0]

&JF Why is it so hard for men and women to
communicate?
« it 71301 for men and women 2J0JA 04,

to communicate= XIZ=0{0|Ct

@EY Then the man will focus on coming up with a
solution as quickly as possible.
- focus on: ~0i| TS5t
+ coming up with focus on2l 2X0{0|1 =2
~g ZOHHC}, LisCl olck
«as + YSAMEAD + as possible: 7tsst ~SHAIE

@EY 1tis because what she wants is emotional
support, not a solution.
« BALHEAL what(= the thing that)2 isQ] Z:0{0]
ct,
+ (B, not AY= not A but B' 2} Z2 2lojolct,

Answer Key

Reading 2 p.74

1.® 2.0 3.@ 4.0

Summarize the Text

(1) communicate in a variety of ways
(2) to attract mates

(3) use sounds to talk

(4) many gestures to communicate
(5) where to find food

(6) when they get angry

f

0L o
£ Mo
[0 1n
=
Il

716171 sl = &
= F=oil 2 i H2=S 2HIgUCh H2=2 St A
= 2l B2 S=30 QbliM= olggunt a2|n Saelet
2 HRE it =52 M=20i7| 0lok7[5t7] flalt 4215
O[Z|LCt 0]d0] Tzt oFUCh

S=s2 YMASE of/| ol B2 MAXE MEELLC (a)
7| 2 7| oS0 ASULCE E2 SA0| U X2 THE Lol
A Le7| 2l &2 S (b) 7122 MHE B 67| 2ol
P == =21 FXIL. (c) 221 AF= LS o Ml =
M fIRoitke B2 AlRIS UL (d) DIXRfez nEek=

[

(EXET)!

1 722 o 2E0= RUME O 7Y L2 W27
O S=20| 22 & = Qledt Os9| gys 5g 4
AL,
@ SR Hitt S=51 2552 M0 57| 2l
M 22| OlSetitt
Q@ K2 S=E=2 ME u=A77| f6iM Hz=S AT
@ =52 M, 42| HMAXME Hefer QAAE UEE

A
=29 FHEe A UM 2FolH, o= animals,
gestures S0ICt
2 % 29 attractet 2p|7t 7HE Tt 427
@ OH=AIZ|EF
@ Bfofaict



atract= ‘0IZ2 BCf, OIRAIZICF 9| 2jojolw, S2J02=

‘charm, allure, appeal to 7} QUCk

10

E oy

© 0oL
N

M e
oro o
ro
>
U
mjo
H
ol
_O'ﬂ
E I
2.2
gﬂ
o
o o
Hr
m
I
inl

®

muin F—II%

4 ¢ 20iM s 20| 012 ?Ixl= 71 252 A2?
EHERRNEEIREEEN
(a) Olot=s S=20| GMASE 517| 26l ALESt= B2 HA
MO TAHR! OIAIZOIC, et 01! 29| US2 @R

= (a)olct,

@Y ltis true that animals cannot talk, but they
do communicate in many different ways.
* t2 780, that®2 XIZ=0{0]Ct,
+doldoes, did] + SAIAY: SAI X HBC=E
do= SAt communicateE ZZ&stirh
(do = really)

@Y Animals also use a number of gestures to
communicate.
« {a number of + EHAHOIA a number of=
many2| 2lojolct
+10 communicate= REAS| RAN Sfo=

MAEE 57| flah 2 2lojo]ct,

@& Bees dance to tell other bees where to find
food.
fo tell2 RZAL BAN 8Hoz =X(~shY|
Rloto)S LIEHACE
(el + =H0] + =X0) 222 ‘where to
find food = SIZAFE tellS] =X0{0|Ck,

AnswerKey

Unit 2. History

Vocabulary Preview p.77
A 1.servant 2. empire 3. earthly

4. decision 5. organ 6. belong

7. government 8. decay 9. tomb

10. preserve
B 1.c 2b 3.d 4e b5.a

& ofy

belong ~0il £aict

earthly A

ESSle]
=421

decay S5t servant of?!

preserve HZEsICt organ &7| 71

]

tomb £2 empire A=

government &% decision 2% 24
ancient 1142 wrap M}, &G
expert T2/t modern 9]

treasure 2=

Reading 1 p.78
1.@ 2.3 3.3 4.O®
Visualize the Text
(1) decaying (2) organs (3) Drying
(4) oils (5) cloth (6) pyramid
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2| O, J= X[stMAof S&s| HE={of2h & Zolct o]

2fet 25 mzof »& 4 S 0|YE0iM Dloj2tatrt atE

1 3=

AN .
O 2o olFERIE @ OIZE EXl
© OIZE =5t @ O|IZE njo[2tat

2 % 29 ojoj2tsfoll et dEe=
O 2& Y7152 7t @
Q@ Moz ARlE ZXIED. @ ARKS
Moz Als =Xl== A0l OfHzt 7IS

—
==

3 ?l =9 s

S
O mfo|== &2l Ao QtRIE FA0]CH,
L=

@ njol2fek= 8 & St OIHEOIM SA=UCE,
@ AF22| 40| O|B0IML| AL} of WTH YRACH
@ 2t 0|YERIS2 01501 CHA| EHOE 7isdS It
1 OJHERISE 01B0IMS] 40| A=l 4&Ct of WTf
A

4 29| gzl S0iZ L= 71 Y2 A2
® 259 Al @ 359 74
@ 2s9 maioj= @®as9 2
27 OHE2 O|IYERIS0| OS2 Al thehM B2 AlZt
I 2 52 0IRSS MAGIL AT m2tM BiRIl= 2
S9| Al o] 7he MHEsit,

2 8y

@Y For hundreds of years, modern societies
have wondered how the ancient Egyptians
mummified their dead.

+ have wondered= SiXlizta AKZ AlLS LiEE
'HO,
«¢how the ancient Egyptians mummified ~)=
OI2AEZ SAH wondered?| S&0{0|Ct,

€& Mummification keeps a dead body from
decaying.
« keeplprevent, stop] SX0{(A) from B(~ing) :

Answer Key

A7} Bst= A

1o

SfTHIGHSHC]

@ 1f aperson did enough good things during
his earthly life, he would have a chance to be
reborn on earth..

o If 0 + TAHSA,
Ao B3

F01 + ZSAF 2~ 71

+to be reborn2 a chanceE 4AISICtH

@ This belief is (the reason) why mummification
was practiced in Egypt for thousands of
years.
swhy= 0IfS LIEf

reasonO| %@El?iif.

TARAIZ MM} the

Reading 2 p.80

1.3 2.9 3.0 4.9

Summarize the Text
(1) sank in a storm

(2) lost their treasure

(3) found the ship

(4) wanted it too

(5) who gets it

=D

1755E 108, AHQI9] & HA M= ZHA HiE 1ELE 1
b= =E=2Y ol 2f 22|HZANotre Dame de la Deliverance)
SQUCE HA 3N g2 1 HivE HoldePlREE ARleR 5
It OHE HESS 7HAQUIE RRCh ARl ARRES Y7t
HE BE2 SACL ol 22 2 [ 2
ANHE2 4372239 2 15000719 23t oA Alxtel &
A 2| 9ot oo He 2542 o AICH 17553 112 1Y,
LE2H O 2f EeHEAsE EE2 S0l 72t Qor HFC
o

=
ATRI2 259 BES &4l YU

UACE A
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20034 120i| 0|29 B2 37| 3|At HiE YZAIMCE O S|A
o] 0|22 ME Al 2|MX|(Sub Sea Research)$Ct 152 At
2i2l HiE Ah= HEIINICE LE2H o 2f delHRiAsE 2

£ 200m|E9] ZHolol| AU, 2x2 S=22(CiolM gEez 40

OF Hoj&l XolRlct @=¢ ol U= E=2 309 29| 7t



X7k UL,

ME AL 2IMX] 2lA= St
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U7t @ ME Al 2|MX]
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3 ME Al 2|MXI(Sub Sea Research) A} 29| ARH
= _$_7éof o)Lz 7})(} ofare e
O 50| HiE LZY| WEo|ct,
@ 50| E22|Ciof A 27| tiRolc,
@ 250| WIERH HEE25 YW 20|c,
@ =E=2F O 2t Zejnf2iAasIt 252 BT | WHE0|C,
ME Al 2IMX] I 222 AREE =Yt 0lRe I8

0| SZ2|0h ZA it =E2H O 2f Z2lHfgiAsE

243i17] Wh=o|C,
4 9 3ol BiZlo| SOlZ U= 1 YU 220
@ ABRIS 7& 4 Qict
=250 2 Zo|c
® 2% S2izokt sict
@ Yoibfal HiSS &2 4 lct
HIZE QS W Al 2AA| BIAR ATIOl HEO| B2 ASH
W0 BB LIR0ICE XfmO| AP} =REXIZHOf, (302
S0l sigiols BE2007| M0 SAE 01 Hooi =
Zi0]ct,

AnswerKey

€@ King Charles III wanted the ship to take gold
and other treasure from South America to
Spain.
swant + =801 + SXEHO|(toF
=x=0fo|ct

HAD: to takee

@ They said (that) King Charles hired the ship,
and the treasure belonged to the Spanish.
¢ F0 + SAE+ FHO(that + F0 + SAb: that
0| SHOIY [ &AL that2 M= 7+S3IC)

@EJ Whoever gets the gold will
* whoevere= MHAIS Zelotn A= HAANZ 2
O FOHEYS 5l AUCL

Fw

&t
(A

be very rich.

Unit 3. Global Issues

Vocabulary Preview p-83
A 1.difficulty 2.violence  3.lower

4. election 5. describe

6. communicate 7.harm 8. contact

9. landfill 10. development
B 1.c 2b 3e 4a 5.d

& o3

describe ZAl 7 [z]atct
difficulty o2l =4
lower WL, LH2|CH
communicate 2JAIA
contact S EE]
opposite £
receive 2 2OHS0|CtH

include Zgf5iCt

landfill of2/x|
harm af, mfolf, 2ol
development 2%, 8%
S2 ot violence =
election A
silent 28¢t 259
9|

|
protest C|[EICh] &[SI

Answer Key
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Reading 1 p.84

1.® 2.0 3.@ 4.Q

Visualize the Text
(1) back yard
(3) the price of houses (4) front yard

(2) building projects

(5) development

(6) earned a lot of money

(A) NIMBYE “not in my back yard(Li Sotdof= oF =Ich
O ZURILICE (a) D2 ARI9 & 2X0| EF B8R9| 122
Sl= 7Al=loll ool Bithol= AISS YELICE (b) 0l A==
s, 27| ohX| 22| UXATE ZEHE 4 ELITH =
(c) IAXEE oftofl X|ofof & X| MElist= o of2igE Zi&Uch
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please in my front

=
yard(Mgt 22| & Aotz of FAR) YUt of HHE2

59| QI X2l ol chsh BiTHoHA| ELTE 28 252
Jhol chet ez RIS Al U oS S et=el o
ol T2 Aphef QI X|Holl 27| miEXIE ddske A=
AgotRgtt. Z2aez 1 X9 Mel= B == 2 &

(EXET)

1 929 =2 IR e 227
@ it By @ Hujo| s
@ dulol Z2l3t HE @ BSAo|

(A= gHINIMBY)Q gelet E8E, (Bl= BH(PIMFY)S

Foleol £ & =0Ick

O FMHNM @ ~0il theh 2oz

@ ool @ (~of chsh g2
in retune ~9o| EE[EHe2 oojo|1, E9l){2= in
reward for' 7t QICt

3 % 29 Z& 7 (a)~d)7t 727l W80 ER X[
727 o
@ g @ T ZHoll AE2 A= A=

Answer Key

[
HR0IM Uste BRYS

(d) theye= &=, M2f7| OiEX], eHaet 22 £ SF2

4 %I =9l izl S01E 22 7K e A2
e 25s= I &+ gl =int
@ 2 XA Ml B2 =2 g =Tt
Q 0IREE HRE =2 + W =t
@ HE= olep Z2NES ofACH
HIZh 9f2 of Eo| JF0| Aphlef el X|of M7 ofEX|
£ dols A AHEoIRitiE WEO|T matM, Bz 1
2of oot g2 XY A7t g2 4 Us KR! 019Y
= 752 & Ut

@& 1t describes people who are against certain

kinds of building projects near their homes.

o 2 A HEA who= MEAF peopleE AISHT

@& The government has difficulty in choosing
where to build them.
- have difficulty in ~ing: ~ot=0| H2lg=2 4ict
«where to builde Sl2AI22 choosing®l =4
ol b= ot
@ These groups are not opposed to
development in their neighborhoods.
*be opposed to + BAHSFAD: ~ol= AS
st (= object to)

Reading 2 p.86

1.@ 2.@ 3.0 4.0

Summarize the Text

(1) fun ways to communicate
(2) to make people silent

(3) to report on the events

(4) came up with good ideas
(5) sent messages to people

(6) what happened in Iran



=D

H|0|AS Dt OO[AHO[ARN 22 Q1M 715 MHIAS2 TiHExt
|

S SMAE 2 U ToRUE SEHYUCEL T2 (a) 0]
MBIASS ot Mo HEE F1 g gis Hath7(22 AU
gLt 22 (b) 0IE SFaiE of MH|AT} B2 EQIHYLICE
O[Z0IM 2 AMFS2 B HH7F AL H = H2[ollM A%
£ 2gHH HRs O5S FSAFP| f6l BHS M85
gUCh 5= 0007t O ARiE BE517|E 5180 Siita
LICt AXI0f E2 7 [XEs F2A717|= Ut O 21, 0]
g 2R0f Uz AlHSe| tEEl BX0| AHERUSLIEL 1
M LS 02 ARMSES 08X 259 d&s Mool &2 & U

SA[0fl Ctht ofo|T0E HEREUCE () 252 5| E/IH
£ MY + UMD, T2 52 aAE Sl T Ml ARE
oAl HIAXIE ERisUCE J2(1 (d) IAE & @57t w& 2

9 ZAL|E Tl FUSUICE

EETT)
1 929 Mo Jhy U %27
D SNSQI 0|22 HE @ SNSO| At

Q@ 0[RS ol ARl @ o2t FRo

o

O FAsIcH @ A2l =ot
@ HpAl7It @ BTt XiEtoitt
cut offie HaflalCl, TERAIZICH | 2jojojn, Seloz=

@ (a) — Qo F= Mu|A @ (b) = M
Q@ (c) — LR Ol AHS @ (d) — ollAIX|
(b) thise ¥ 289 AU 7= MHIASO| MO| SEE

T = YAS HRECE MM 2 72)ZI0)

°
@ O[2F ArHSOlIAl H MAIS] =422 Half FAEHCH
@ 02t AlZS Atololl B2 =HES LUt

Q@ It MRS
@ 02t MHE0| ARIS] E2EE MEE 4 W FsUTt
H =

ol %

o >

>
>
10
ol
I
O
m H
Jo 0
m
i
2
fu

AnswerKey

SH= WAIS BOET QUCt BIZHl= M ARZIS0| EQIE

HIARIE & 2| BES0il et LHZ0| L= 20| MHsiTt.

@Y But these services are also changing the way
(how) the world sends and receives
information.

« {the way (how) the world sends ~)= ZAE
AEZ the way (how)= SHS LIEHHCE
o BAEAL howet the wayS 871 ALESHK| YE

Ct (NOT --- the-way-how the world --)

@ The government did not allow the media to
report on the events.
- allow + 2A0{ + to E&AkKto report): allow=
to RYAE SHEN=Z 2=,

@& Then some Iranian people came up with
ideas about how they could let the world
know about their situation.

«(how they could let ~)2 SZAEZ HMX[AL
about®| =X0{0|Ck,

+ {let the world know)0llAf let2 AIASAIZ EH
SEAE =HE02 20

Vocabulary

A 1.cutoff

2. protested 3. ended up

4. suggested 5. opposed

B 1.©® 2.0 3.0

C 1.election 2.preserve  3.independence
4. organ 5. attract

A 1.whattodo 2.what 3. Whoever
4. write 5.1t

B 1. solve - to solve
2. that --» what

Answer Key
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3. whatever ---» whoever
4. to stay - stay
5. That ---» It

Making Sentence

A 1. to get feelings of closeness and emotional

support
2. smells and sounds to talk to each other
3. spend so much time and energy on
4. has difficulty in choosing where to build
them

5. about how they could let the world know

(EXET)!

» Vocabulary

A 1. 10| M2 ke A30] Ol BEteICH
DHSS Dt ZEet &2Vt ot
DEfE0] BL S0f, Bl AP0 BE B2 22 AIE
e 212 L7t
4 UPH 3017 B0 2FYS O 1= NS 2 &
QU= = J1X| S FIoKCE
5 B2 ARIS2 2R WHAC| 9l (20 §A LA
A 72 vichsict
B 1. i DlolISO| SI5t WAl FR8 HES0| UACH
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2 Lt 1 2lof0] 142 BEH o) B 2t Mzt vy
of Zuig Jprgict
@tk @ &R0l @ Pt @ M2t
3 9% E22 & i 228 A0 AEE
D 2ARC @ WEUCH @ Wt @ ZHYCH

C 1. election: ZZl0f| USt A2S ExgE #He o

2 preserve: ool B IR |X[GHALE #HEIX| 247

St
3. independence: CHE AfEC| =2 gl0] OfH A= &

o= :E#
ML— -

4 organ: Eg! 7IsS ol 3= WEC K2f 71
5. attract: 01 Loil M| OkE= 2iTe| A= &5|A| oith

Answer Key

1

» English Usage

A

D

[3HA]

1. 2 ofol= ChSoll 2AUS slof SIX|S oA SRACH

2 22 Q= A2 O APl Wt L2 sk Zolck

3. 0|=20 A EHOE M2 SEX| 0|2 Al2lo] € # Ut

4 HYE2 X Qo 50| ofMl0lE AHet=S FiCH

5. AIIE0| S2 sltheAu s2le 22 FelsH f

[3H4]

1. ‘what to do' = SI2AI2 SAt asked? SX0{0|Ct
HACHEAL what(the thing which) & 2X0fAl 204,
Z2H0|, 20| A&t sict

3. EEEAA whoever= ‘anyone who' 2] 9|0|2 M3}

£ Zshslm QICt
4 Afoﬂ At makes SHEHZE AR YA write)E £2L
5. for + S84 + 0B FECZ T 0] H

[attA]

1. 2= HollAl 2 =HISS siiEstk=s RS MAIE Aol
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3 %@EWIM whoevere
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4 NASA makes SHENZ AR YA stay)E £0t

5. (It - of + =XA + 0RHYA) F=Z2= 71501 [10] 2R

anyone who' 9| 2[0|2 SAtf

Making Sentence

tHake S GMA0I =85S 7] ffef &EoIck

2 H2 =52 M2 Olop[otr] ffol =Mt a2iE
o[g8lct.

3 ol OIFERISE 59 Aol Cish Al B2 AR
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CHAPTER 5

Geography

Unit 1. Region

Vocabulary Preview p.93
A 1.vacation 2. benefit 3. northern
4. mineral 5. agency 6. tropics
7. geographical 8. entire

9.spa 10. rainfall
B 1.c 2a 3b 4e 5.d

£ of2

northern £%9| entire T2

CHXIE] rainfall Z<(2)
=13

vacation £7|, gist

tropics &
agency e[, A
benefit sl 0|5

mineral 2=(&), 2712

spa = E;ﬂ ﬂrﬂ
geographical X2|(&h)Xe!
perfect &%

ot vacant H|0f QU= gl
healthy 71&et

continue A&E(C, X&ECH

experience ZiCt Z&5iCt
Reading 1 p-94
1.® 2.0 3.® 4@

Visualize the Text

(1) the Dead Sea

(2) lowest place on Earth
(3) clean, clear air (4) skin

(5) salt and other minerals

AnswerKey
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SHoltt AF=UCt,
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@€ Found between Israel and Jordan, the Dead
Sea is the lowest place on Earth.
«{(Being) Found ~) #&8% EAFZEC=2
Being' 0| AfZFe|Rict
(= As it is found between Israel and Jordan,
the Dead Sea is ~.)

@Y These features are the reasons why the Dead

Sea is the perfect place for a healthy vacation.

+ 0|RE UEH= BARA why= the reasonss
LN

Reading 2 p.96

1.@ 2.@ 3.0 4.Q

Summarize the Text
(1) in Northern Alaska
(2) for the entire day

(3) for almost 6 months
(4) warm and sunny

(5) the dry season

(6) because of the rainfall

g t

HolM= (b) 0[2{8t Helo] 7ef 6712 F&= X[&0] =X 2
M ARIEE 28 HioF et =2 010f kM Wizt () IA
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Answer Key
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@ Why don’t you come and experience it
yourself?
*{why don't you + SAIRE~Y= TR HEC
2 ~5l= 7| ofmj?" 2| 2lojolct,

@ You would love the tropics, where it’s always
warm and sunny.
« TASA whereQl AL E-oIct (= and

there)



Unit 2. Geography

Vocabulary Preview p.99
A 1.explorer 2. flat 3. harmful
4. edge 5. history 6. journey
7.chemical 8. ancient 9. reason

10. environment
B 1.b 2d 3a 4e 5.¢c

& ofy

reason 0|%, 04 history At
ancient 11C{9
S harmful S22
environment 24 edge 7Fxt2|
flat BES HES
discuss EEaICt

adjust 2E[AE]5ICH

explorer &7t
chemical stsf 22

journey 42
protect £alCt

spread Zx|ct

hardship O{2i={=]
Reading 1 p.100
1.© 2.@ 3.® 4@

Visualize the Text
(1) melanin
(3) darker skin

(2) strong sunlight
(4) lighter skin

(5) natural environment
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9| 20IM Yaito| H2L WS BB ARl 1
22 B3It = Lgo| StFECt

4 929 Ugos £23 4 9= %27
@ a2 mj=s 2 st
@ e 1RE IF Rl NFSS Y Lalol At
@ 052 TRMS IR A2 22 X0M B2 2 4

ok
@ 22 MRMS JIEI AZ0| OfFR TRMS JIXI AR
Cf Bt

CI2 X0l Al AIZISS MRS B551| 9 $e ¥
Bl JRIT U, SO A ARSS e Hals 7t
Rln QICH OO Waklo| NS 2 Btk %2 &
23t 4 90t

@& Today we are going to discuss the reason

why people in different areas have different

Answer Key
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skin colors.

* be going to ~: ~& ofI™olct

« {the reason why + 0 + SAhe= HAEAE
2 0|RE LIEHHD),

€ Throughout history, most people with darker
skin have lived in very hot places.
« throughout history: AE SE0

*have lived= SIM&tZ A2 Al&S LIEFHATE

€EY In the human body, there is a chemical

called melanin, which is brown.

«(There is(are) + F0) FE2Z FO0I= a
chemical0|1l SAk= isO|Ct,

« called= IHEMZ HAL a chemicalg sAlet
ct,

« ZACHEAL whichel ALA 8#oz MilA=
melaninO|Ct,

@& People in hot areas need a lot of melanin
because the sunlight there is very strong.
* because= 0|RE UEH= SETSA0ICE

Reading 2 p.102

1.@ 2.0 3.@ 4@

Summarize the Text

(1) the Earth was flat

(2) changed over time

(3) was actually round

(4) returned three years later
(5) faced much hardship

(6) through his journey
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AT Ol Mol BE ARISS AL TEAiCiT M2iste

2 (a) 250| UF 2| o= otH X2 7RIt
EIOHM TojE Aof2tn MzRiEUCH ofX|2H EEet X520l o

Hoh AlE2
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0

OO O O M
@ II—TW 01“*7| MZI=X] 20 QUACt
g7t o] Li2ut ‘this belief in a flat Earth” 2 S3liM X|
2

A2

@ 2= AHQI FHEIIACt

@ 2= o S W2 o230l 2T

@ I= o MO HiE 2431 MHIOFS T
@ Jd= X747+ golets As 20T 23U

® mw'am Zﬁ% ofetEs
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@ 71 ool M Hotge AFE

? = oY 2dE SdiiM ozt o] MES0| AUE
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@ Thousands of years ago, people all over the
world thought that the Earth was flat.



« HEEO| 1 AXl= 142 o] LMaiH EF
o AIFS LBITh: 30 + SAlthought] ~ + =t
7 ANEE LEfUE= £AL [ago, yesterday, last

night]

@ Astime went by, this belief spread
throughout Europe, the Middle East, and
even to India!

+ As= AltE LiEfL= S HEAMOICE (As time
went by: AlZH0] SEFHA)

@Y This is (the time) when Spanish explorer
Ferdinand Magellan sailed around the world.
swhens ARIES UEH=E BARAEZ M}

the time0| AZFZ|QiC

p.104

Vocabulary

A 1. hardship 2. ancient 3. flat
4. adjust 5. vacant
B 1.©® 2.2 3.©
C 1. mineral 2.rainfall 3. benefit
4. environment 5. spread
A 1.because  2.when 3. why
4. because 5. as
B 1. when -» where
2. because of --» because
3.If-» As
4. but --» because
5. where --» why

Making Sentence

A 1. why the Dead Sea is the perfect place
2. where it is always warm and sunny

3. because the sunlight there is very strong

AnswerKey

4. they would fall off the edge of the Earth
5. faced a lot of hardship during their journey

(EXET)

» Vocabulary

A 1 JH= EXM RIS Shed| oS OIS S 24X Rl

2 Iojol, ARISS 159 MY QM S22 Aldstor

3. Mol HEGIK| 20N L= 1 My 20N & 2 7t

U} M2 Stmol KSsten 2 Zalx| it
5. Br BAOlS bl0f Sl= Xf2l7t 2i9ict
1. 010152 FoRSE B19Y| s BXN A e
7t Qic
@ Zalsict @ sk PRI @ EEsiCH @ Fasict
2 otcols 220l 1 A0 Cfft e S
JHRIT Uk A2psict
® 7hextal

1. mineral: G&0] XHAAZ M= 22

2. rainfall: Y& 7|7t L&t 220i L2 H]Qf 2f

3. benefit: HH AOZ2EH A2 £ Q= =5 E= 02

4 environment: Ms0|/ Jete F= &2 A, J2|0
ol=
==

5. spread: O 2 X0l =26t O Z2 AROIA &
k2 0t

» English Usage

A

[5tAd]

1. It BREE QoHRU| Mz 252 I 448 8
M= oiUAct

2 2 Ol0lz F2|ADAE Zofel=d|, O B2 M==

gd= o U7| m2o|ck

L

3. 27t mHEjof] @X] A 0|F= HF BT | miZ0|ct,
4 4R O9M R2lE MS7IE ArZst
5. H= 0] £52 ofL? "20fof 712 Z0[QIxZ Sisshat’

[aHAd) o

1. ZEM=z A4S 0 2t 0lfs R2E YoiHRU| Tz

Answer Key
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Olc}, ek because?t LUt

2. AR whenel AlEH SHo2 MliAk= AlZHE 20|
Sk= Christmas DayO|Ct,

3. ML the reason0|7] W0l BARAL why7t 25¢
2 HEJ0ICE

4 because =0 + SAt/ because of + At
~IHZ[AE] O UEHE LEHE HAAE asolch

1. W7t 22 20 AU, H710M AESKETF M7 ] SAF
- o

5. Uz 347t QAtoliA| 7t OIRE L QULI?

[5HA]

1. AR where| ALE 2oz HAS o|0|5k= the
road”7t MALO|CY,

2. because + 01 + At/ because of + HA

3. L[t E0{7IHA off Y8F2 T A= asolch

4 15 UX| Zoh= Olfe HALYS of7| WZ0|Ch a2t
T&AL because?t ZRSICt

f the reason0[7] M=0] ZAEA

5 RlAL
H2H0IC,

SEEIPN
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b why7t st
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j—

» Making Sentence

A 1. 0[2{3t EXS0| BIZ Alstit 71T IS B 4 U=
2ot 401 OfF YU
= [Eeoy SiSlo] WSt HoHX|Zo| oks0ll S 710
. G2 X[H9] sislo] HUT Holy| mizof a9l A—FE2
2 defHo] HRsi
4 ANRHEE2 250| UF 22| (s ofH X1 71EXE(of
M ENHE Aoz 23t
5. 1 0lf= 50| Kdlist= SO B2 0250 A

8
A0
1o
r
inl

Answer Key

CHAPTER 6

Science & Technology

Unit 1. Space

Vocabulary Preview p.109

A 1.planet 2. gravity 3. explode
4. billion 5. Celsius 6. oxygen
7. meteor 8. survive 9. crater

10. astronaut
B 1.d 2c¢ 3.e 4a 5.b

£ o3|

explode =25t EX|C
billion 10

Celsius &M

survive MOt MESICH
planet 3

oxygen A4
astronaut 23 H[2A} gravity 53
crater £af

swallow &7|ct, S0/|7|c

meteor 74
create =xolct PHSCH
occur Yo{Lich 2Asict

core 4%, atinl

Reading 1 p.110

1.0 2.0 3.3 4 @

crash S=aitt, £EX|CH

Visualize the Text
(2) 150 million
(4) four and a half billion

(5) agiant red mass (6) 15 million

(1) hydrogen

(3) eight minutes
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O Ef2 TSR FE=0] AT,
@ EfZQ] 22 MM °f 5700=0]Ct,
@ EfY 0| |0l k= o of AlRb He Zelot,
@ X7} effel Z2{S ot v == Ol 365%0] Z7ICt
2 HEOM Efe=RE 20| f2lofA =Fcke o 8=

Z2IctT #it

iR SMol= XIFHel of A &S 4 QIO oA B

AnswerKey

@& About 75 percent of the sun is made up of
hydrogen, and the rest is helium.
< (FEBAKHIZ, 24 most, some) + of + HAD
7t FOIE o SAR| = Al SXIAZICE F
0f the sunO| TH=0|7| THZ0ll SAF EBF H4 &
EHQI isOlCt,

Aoy

*be made up of: ~2 THEIC} (= be composed
of, consist of)

E&F These gases keep exploding and create the
light and energy.
* keep + ~ing: Al ~3ict
« SAI keept create®| 0{= These gasesO|Ct,

€Y We're so far away that it even takes light
eight minutes to reach us from the sun.
+s50 + FBAYEAL + that + 0 + SAk that2
() £ UEtlis S4TSAM0|T ook
== --5lC olct,
« it takes + SXEO0I(A) + AIZKB) + to SAFES(C):
A7t Cshk=d| Bl Alzto] Hz|ct

‘
~

ok
0z M

@EY When the sun is ready to die, it will become a
red giant.
< AlZE 2AFEOIM X AMl= ]2 AIMIE CHAl
Cf. (NOT When the sun will-be ready: )

3

rol

Reading 2 p.112

1.@® 2.® 3.@ 4.®

Summarize the Text
(1) need to take oxygen

(2) much weaker than

(3) feel lighter there

(4) shows different shapes
(5) hit the ground

(2 51

oll= S717t it 3717t 9leE 2 Hof M= 0|1t HI7F L2

A gen BigE =X e fEls 670 358 Mgt AU

Answer Key
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X2t oils & & ATt gliot 2282 25 HldAE2 OX
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Answer Key

@ =l RYL el Pzl nfef Farxict

@ 22 40| RYS0| Y4 Yujo| FEL Wi

Lolk= B2 eul tR0l 22t B3l & 2 4 s
AATE Gt makk 227t ZolAS OFEI2 A 4 ¢SS
[E 4 Uk

@& So the astronauts have to take their own
oxygen to breathe there.
*to breathex= BEAIS EAN 8oz SX('s
27| UM )S LIEHACE

@Y The Earth has six times as much gravity as

the moon does.

A HlissAb as ~ as B HissAR HBECZ Qnj=
A= B # HiZ2 ~slct ock

A full moon occurs when the Earth is between
the sun and the moon.
*between A and B: A2t B ALO[0f|

Unit 2. Zoology

Vocabulary Preview p.115

A 1.path 2. insect 3. warrior
4. adopt 5. lizard 6. research
7. medical 8. mean 9.leash
10. stay

B 1.d 2e 3.a 4b 5.c

& o3y

warrior A mean H|Z8 A2
stay HiF2LCF path Z

lizard =0fH insect 25

H
medical 2/si{2|=z]9

adopt aiC

research 7, ZAf
leash 7= Z]

remember 7|25iCt

swarm F2|E K| Chch

f
smart £59 H2|et
terrible Z%/et
mostly 2, getdoz



Reading 1 p.116

1.0 2.@ 3.0 4. @
Visualize the Text

(1) meaner (2) Africa (3) swarm
(4) 20 days (5) leave
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AnswerKey

@ ZUHoIE
HO|IZTHE 2t U
HoP7L 2= As BH

4 2| 20M LS 20| 2012 |IRIZ 71y L2 A

JtEg FElE X0 o=l
(b) 89| During that time ~ 0 during that time2
o7l 2&9 2 20e S2fel 22E XK Olsats 7Ikk

SITE M2t 0T 289 8t2 Xl= (b)olct,

@ They are not people at all.
Z3 ’Vo|'X| or=rt

mo A

ol

* not ~at all:

*at all2 FEE0IM ZZ%E (--0tCh 2f 2lojolck

@ When people in Africa and South America
see army ants coming, they leave their
villages.

« X|Zt=Allsee, hear, watch, notice] + 2X0{ +
SHH(LEHEHAL SRHEAD

FZIBEQl SHY A= 2ol AL

Reading 2 p.118

1.@® 2.0 3.0 4.Q

Summarize the Text
(1) racing dogs

(2) last a few years

(3) sold for research

(4) adopt greyhounds
(5) make good pets

(6) off its leash

Answer Key
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Answer Key

@& After that, the dog racers don’t want the dogs
any more.
*not ~any more: & 04 ~7} OfL|Ct
(= no more)

@&J Adopting greyhounds is very cheap (only
$125), and they make excellent pets.
* Adopting2 SEAZ 282 00|11 SAk=
=

IS

@& One of the things to remember is not to let
your greyhound off its leash.

to remembers 2HAZ HAL the thingsE 4
AlSH= SHEAE 2Ho|Cf

- OO
«{not 1o let V= EYAZ BEOIN 20 22
Stk
- 2™ BEEFE E-AL HIZ2 ol notlnever]
£ 20t

Unit 3. Electricity

Vocabulary Preview p.121

A 1.renewable 2.wasteful 3. coal

4. source 5. limited 6. electricity

7. extra 8.run out of 9. pollution

10.chemical

B 1.b 2e 3a 4c 5.d
& 0%
electricity ©7| coal MGt

pollution 2
limited Aotz
extra =712, 7t2/|2|

run out of ~2 Cf

renewable XH4 7+Sct
chemical &5 22!
wasteful gtlst=, 'SHIZQI
source &,
improve Zi=(CE LIOEX|CH

M2 ot
alternative CHQ! MEi 748t A
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giant 7{Ci{et

Reading 1 p.122

1.@ 2.0 3.0 4.0

Visualize the Text
(1) electricity (2) pollution
(4) run out of (5) the world

(3) 50 years

(6) alternative
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AnswerKey

3 9 22 renewablent 90|17} 7HE HIZEE 427
D 2E= © TRt Sl=
@ M 7tsst @ ZHstn JHE U=
renewable2 XA JtsEt o 9oojojn, FYEO|=

4 2| 20iM Cts 20| S01Z #IXI=2
[ 22E= BN T7|S BtE0fd & °'Ef
(a) CH=01l ChAll o AXIEe] of
SolM=

AZE AT

@& Our coal and oil may only last another 50

M 1 (b) Cf
HIZOl O{EA HVIE Rre=X] ARl LHEO|

TefM =02 2ol €52 ?xl= (b)o|ct

years.

*last= SAIZ KI&SICH of 2jojo]ct,

@Y We will have to improve our technology or
find other sources of alternative energy.

of 20N = JHe| =SAIE SH0I0 & -~ gltt

OT witmust improve:-)

ATLAL or= F JH(01)2f THet tsd

g O £2 AMSET,

.

mo on =

Reading 2 p.124

1.0 2.® 3.0 4.

Summarize the Text

(1) grew too many bananas
(2) the extra bananas

(3) generated electricity

(4) are testing the idea

(5) provide hundreds of families

%

50| BiLIL} REHRISS B7HA| 2HIE JHxin UUCh oHE 2
S2 47 B2 HiLiLIE MM S250| 150 HiLhE =
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20 152 5 oo 22 E9f BILILIZ HiZICH O T B

Answer Key
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3 2 29 extra®t o|7t 7HE H|Bt W27
@ X0l @ Haist
extrac 'F7t9|, 1

‘additional, excess, surplus 7 QICt
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@Y When the farmers sold their bananas, there

were always extras.

Answer Key

*when2 AlZts UEHE SETLA0IC,

[l =

@EY They wanted to turn the extra bananas into
electricity.
s want= toREAE SA0= =Lt
«turn A into B: AS B2 Melsict

@&y 1fit works, Australia’s extra bananas could
give electricity to over 500 families!
« 271 EARE AIBE IFE9] Qole ~BiTtE ol
o work: AEXO0|CH=

CH= be effective)

be successful), 227t U

Unit 4. Robot

Vocabulary Preview p.127

A 1. disability
4. operate
7.land
10. radiation

B 1e 2a 3d 4c 65.b

3. Mars

6. accurately

2. parachute
5. announce

8.evidence 9. curiosity

£ o3|
land =&a6tct

rover AMM

Mars st

parachute Sotit
accurately &5t
disability A& Zof, =
radiation AL SA

vacuum XI&

announce ZHsiCH
operate =3t
evidence 54

trace =ZEISICE AOHLACE
treatment X|= artificial 552!

contaminate @&A|7|Ct

Reading 1 p.128

1.@ 2.0 3.0 4. @
Visualize the Text

(1) car (2) cameras  (3) parachute
(4) oxygen (5) life
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S 25 o tivh 20124 88 60l 2kgol|l ASJUCE NASA=
1 22E MEfeln FelAE|(Curiosity) 2f1 018 20
=2 A2IQAEIE 2011 118 260l 52 ERiCt o
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L NASAL MEE2 1 ARIE B #si
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EEER)

1 2 29 M=oz 71y Yk A2?
@ SHMof| 2ot Ml
@ NASAQ| &xE
@ F2I2AEIQ] A o]

@ HRLAEQ AFTF U2
? 22 2k A 28 FA2AEQ ok A,
11 Yo et =Zo|ct,

= =

A
~
ar
L
L

FE MY Lo A27
O 2R 20t5t =S 2[5H0]
ARE AgS =2l oi7| flsto
Q@ 5 =ME O =2 57| fIstd
@ MAE F= YFE WEA 5171 st
AL 229| 2A0t5t HFZS 2oh, NASA WSIXE2 Hoifet

3 % S0lM F2IQAIEI0] Cfet MHOZ ASIX] g2 A=27?
O A2ILAEE XSt 27|9] 2R0|ct
@ Fe|RAElE= 20113 112 2620 252 HURLC
Q@ HEILAEIE OFAZIA| B Hol M= &SR] =
@ FRIRAEIQ] YR= MAaet 22 Q% SHE A= Zd

o1t

HollM RElRAEE X2 o 9
ASAL| MHE2 AEIS B0 SS3ct

>
el
o
H
<
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AnswerKey

A 29| ez 28 4 U= ‘
O 2RS0| NASAL| HEIXISS E=RICH
@ FAERAEE EXM ZAFY 5 ALK,

Q@ 2Zh2 oIl =hdol

| MES 4 AU Foltt

@ Bh0f Ofttt M| EX0| US TH5A0| T

NASA TSIRIS0| Fa|RAEP} B0l 20 23 57
2 FORHCHD WEICY B LIBOIM SH0 Mol 2
2 s |5 2 4 At
CEE

@& After landing in a crater, Curiosity sent a
picture back to Earth.

* SALZO0IM AL

AL=20] Qjolsk= =

£ Ms 4Rk QL (= After it landed in a

crater, ~)

@ The machine rover is as big as a car.
*(as - ag)2 Eg HuTFEeE ~gF -8t 9
olojolet,

@Y 1t was hard for Curiosity to land safely on
Mars because it was very heavy.
oIt ~ for + SXA + toRHAL 12 71504, for 5
Z{S ojn|Al F0{ to BAAR= ZIZ0{o|C},

= —

@Y NASA scientists planned many steps to make
the landing successful.
to makex= RAIE Y =X|('~o7| flstod )

LIEHACE,

@Y The mission of Curiosity is to search for the
important things like oxygen.
+ o search= =&2| 20| A= sz BAEESH

olct,

Answer Key

43



Reading 2 p.130

1.@ 2.9 3.@ 4 @

Summarize the Text
(1) get a lot of help

(2) work at factories

(3) operate on patients

(4) moving or exercising
(5) do chores like cleaning

(6) to remove bombs

oIt OS2 &Ko AlFSolAsE feleh 2E0ME dg &
AL,
FHOIM 2RE2 AP} EXfEE 28 i 25 S=0H o
SIXIE2 XIZE ®foh &Ate] 5 2ol S0 4 U= OFF A2
2RE sl AL 2RES EBF YoHIS0| 2S5 0
YoM X o= ZH0oF & f =55 & 4 RACh 7FE0AM
EREE T4 22 HUS oIk BTt s HA 2RE 2
27t H2 Azt Zefe 4 U siEd. as2 otiE Al
Of Skl &7l ot = QI8 XlsE ASEith RN 2RE
2 ZEE Hrfot=d olgEtt. Mz 252 HO[2ALL BIA}
soz ¥ AHof 7P|= et 2RE2 MFE0| 77| EXl
o= W2 OE X0l 0|2t 252 MEES *ll fIgsia
Cgi E= XFe HESS olfdict. 252 f2/e R TS
o[
(EXET)
1 9 29 M=z 71 gt A2

O fleder 2y @ QI7k2 et 2RO =&

Q doilMel g @ =iz ol 7l

L2S9 LYo 2 =5 = 2RE0 et 201

Answer Key

H ) 2Ol 2252 B 312 BY WD Y

Sl ZFRITE 2k= LHZO0] RACH

2| 29| environmentt 2J0|7} 7H&} HIZ=EH 2427
D Azl @ B9 @ e @ 24
environment= &4 9| 9j0|0]1, S9/HZ= ‘surroundings,
circumstances’ 7t It
?l 20 Hgez FEE 4+ U= A7
O 222 g4 ol

=]

=
@ 2RES MLz L2 0 A + T

QIZIS0| £3H517| Of2Q £0fo| US 2RE0| o B B 4
QSS S58t 4 QUrt
2 8

Scientists are developing tiny robots which
can enter a patient’s body for treatment.
+are developing2 SIXHERE AXZ 2SO

SAOILE HEHS LIEFHCE

» whiche ZACHEAIR FAf robotsE AISIT

@EJ Inhomes, robots do chores like cleaning.
+ cleaning2 sEAIR FXIA} likeQl =H0{0[Ct,

@ Vacuum cleaning robots save us a lot of time.
« SAl savee F MOl SRS TIXIH H&TiStE

SHX| 4=Lt (NOT -+~ save a-lotof-time-to-us)

@ They use artificial intelligence to tell them
where to clean.
«to tell2 SAEAMA EEHCZ HAL artificial
intelligenceZ $AIGHC}
« tell + =X0i(them) + =X0{(where to clean)

@Y On the battlefields, robots are used to get rid
of bombs.
*be used to SAFEY: ~ot7| Lol AE =T
be used to + BAKSEAN: ~oh=0| =5t
+get rid of: AHstCt (= remove, eliminate,
abolish)

@ Robots are used in many other areas where
people don’t want to go.
« are used= HARA[X| ~EHOIC,



« where people don't want to go= EAEARE
2 M} areasE FA[SiCt

p.132

A

B
C

1. ran out of 2.adopt 3. contaminated
4. explode 5. artificial

1.@ 2.0 3.

1. pollution 2. astronaut 3. leash

4. environment 5. electricity

English Usage

A

1.s0 2.singing 3. overlooking
4. to stay 5. admitting

1. entered --» entering

2. s0 --» such

3. talked --» talking

4. played --» play / playing

5. or-»and

Making Sentence

A

. it takes eight minutes for light to reach us

. not to let your greyhound off its leash

W N =

. doesn’t make enough electricity for the

world

[

. for Curiosity to land safely on Mars

5. where people don’t want to go

EEER)

» Vocabulary

A

wo N

~

J52 20| Of HOjH ZE 1 Z2MES myfsor
ek

1 29 250 ofo|7t G0IM UEIS BBt
R=Y a8t BT GR0) 22| 212 X2 50| 2|
ALt

871 9l 010 ZEHS BB BUsHe o] AIfRiCt

C

pollution: RE4 &tet BU= © = 4TS LR

AnswerKey

. 20[FEE 218 Xs 2ofe| REet aietxio|ct,

Y2 =7 olEVEe B2IZ TS AR
A

@2 Ot @Rz @S

L= 28 ZEO dliske As Melskr oE tiefo] gt
AL,

@ 224 @ (E3)ML, d5 O M= @ FHol

71 Zo| sl 2000E 1 2010 Afo| 717tE ZEBict
Os8 Q=2 Q8 @3

34|

_ astronaut: SEMOIA] LYSEALE HISEH= AlZt
3 leash: 71 20| 222 220| 715 T= Al

. environment: IS 22 4 = XFAe 27| 8 1

2|7 S|

. electricity: 1 ZHES flo AFE &= olHX[e] &t

EH

» English Usage

A

[sttA]

1. 29 =42z UL 2F6M B 72loiM= S2ct

2 ORoll Hoid mf MS0| 2ske As E= A 20t
oIty

3 1 YHs HiEiEE YR B2 HE =t

CUe ol 7t A MR = A S0 dEE 4~
AL,

5 =

2

3

o T
I~
N

- mD
ol
ii
N
o
ro
o
_O'E
=
>
o
2
>
ol
£
ii
L
N
o

. SO + YEAt + that + 0] + SAL HF ~aliM -2 F

&=0|ct,
MEO| =25

= A2 58 BAOIEZ AMIEA

= -

(singing)7t LS,
TR0 HEE HetEs A ol2R HMEA
ore to go%t to staygE AZal = SHESA0|CE

‘admitting’

[sttA]

1

M stuof 502t of2loIE2 2MEE HTEE Aolct,
2 |

Answer Key
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3 et 0[0p7|E Lix &0f L= & 7120] &Lt

4 22|= 0l0IE0| &+ ol AE B A2 £0

5. ‘manner’ 2t ‘manners’Af0

[aHA]

1. 'O{20|E0| w0 E07k= A 017] 20| SSHER!
SIXHE A entering) 7t LTt

2. 50 + HEAL+ TAF + BAF = such + BAF+ FEAF +
HAL

3 EARORZ talking with ~7F L2 HH0ICE T&AL
Alter= Mk 7HsSICE

4 Of0|50| 78 ok= A 22 s 017] R0 Sy
EAMplaying), 22 H&(play)0| L= E0|CE

5. {between A and B)9| 9|0|= " A%t BAO[ O|Ct,

°
>
oA
ro
40
>Q
o
J
=)

0

» Making Sentence

A 1 =Lt ge| Hoid QoM EfdeRRE 2= Yo 22|
ol =Eshk= o 820| ZA2ICt,
2 VIR 7|9 Afgl2 2|0[etRES s =X| Y= A
RZEIEN
3 382 I MAIE 2ol =8t TVIE 2E = gl
4 F2IRAEE X FAHRY
A =kgoll 2=51717} o2 =k,

- |

People & Origin

Unit 1. People 1

Vocabulary Preview p.137

A 1.jail 2. armor 3. defend
4. offense 5. excited 6. prisoner
7. voyage 8. weapon 9. quit

10. gunpowder
B 1.b 2.d 3a 4c 5.

Answer Key

% oy

quit 1PHECH
jail 22, mEA

offense Hz[Ha] 34
prisoner Zl AKXt
armor 4%

defend Zoi[=~tl]5ICt
gunpowder =2 53, 3t
defeat THHIAIZ [T

weapon £7|

voyage 042, 2laH

MR

excited 229t &

involve 48 L &t]5iCH

escape 2ol ZOtLict trip o

army =t
Reading 1 p.138
1.@ 2.0 3.© 4@

Visualize the Text

(1) afree man (2) quit the army

(3) aslave war (4) more than 70,000

(5) how to fight

=D

g
et =2l gAt
of ol 2ES U (

SRR oL 2 ZAP| #oIE JfEU|2 AaRitt S
JPRECE A2 o2t g2, 2 =0l 2= d=0f &l
A =AU (o) H=0ll Uz S0l AMt=EREA= 2008 Ol
9| 2|=0] Fofots =0 TS AlRRIH. (d) 22iH, 808
Ot M2 M2HS0| 22T 4 AU

SECH L0 HER2 EA Sz HOpHEHM 2R RIISE 2
Ch 250] o 22| 0ls E=5F, US B2 =050 250

= -
RO DU =0S0] Qe 4~ Q= Y421 HiH|2 Ao

(6) defeated the slave army

el

bl

o

AR T, 808 Fal= 72 F 0ldo| =RACH
AMEERRAE HASA 20F ZHo MM MWD Hofsk=
Yes 7I=X= o2 22 BRlth 19| FelEs edcke As
RS M, AnEERAE 201 2SS EHCR Mz 4 U=
et ZUE 2 ZUCE 0l2feiol= =tot, 37

r_ﬂ

Job qm 4>
i
ﬂ

i
[>
&

1 UM 20b s 22 o) ZHE THHiAIR, 20

SEIRAZ = B 4 8T

— = T HAM
(EXET)

1 9 20 Fr2 TRy Ae 22

O =20t H=e ==



@ =0t el EHE

Q@ =0t M=olAM =oiIS2l At

@ ANEERFATE L7171 REHBH Lol 7Y

9| 22 ALZERATVE 20F M=0] a5 ge?l )Y

2 % 20IM AOEERRATE Z=0| 25/ & 0lR= 7HY &
Sz 427
O 7t 0SS =271 =20l
@ 27t ZUhs JUFUV| wh=0lct,
Q@ 27t Zhel FHE HHEWY| t=Z0|ck
@ 27t 2ot M=ol thelsto Bets doZir| mzo|ct
ATZERATE 220 267 E 0lfs ZUE 2572
b A=0lM ZUE J8k=ECkE A2

O o

D ALIZEIZAE XIRCICZ Z20F oM EHS 2R
QiCt

@ 200Y O|M9| LLOo=0| 4=0M BESIH o s
ARIBHD

-

Q@ AmZERAE= 19| 2250/ 20 et M= Y

CHS MHERAIZACE,
ATZERAE 2008 0140| ootz =0 s A=t

oL} 80TLIC} MO Aj2i=0| 2iEEt

4T
0

2%

]

35 ZoIo=A B2 ARIZ ERRIE, ol 2 gAp|
Tl JBKEY |2 ZNC

(a) CHS0l ZoHollM 2BS HUTH = W0l AUz, (b)
| =lUCH =

@& One of the most famous slave wars in
Roman history was led by a man called
Spartacus.

«{one of the most famous slave wars)= 2%
9| £0{0|11 SAk= was ledO|Ct,
+ called= TARAIZ HAF a mans ARG,

@G Quitting the army was a serious offense, and

AnswerKey

he was thrown into jail because of it.
* Quitting2 SZAIZ =&2| F0{0|Ct,

* because of + HAL ~IHZ0]

@ While in jail, Spartacus planned a slave war
that involved more than 200 prisoners.
«{while (he was) in jaihOllAl 201, SAZt MefE|

Ct,

2 AUEA that2 FAF a slave warg

=

= P2

r

@EY The further they traveled, the more slaves
joined them.
« {the + H|uZ--, the + H|g~: ---51H

G ~sich

o

A2

@& When they finally reached Mt.Vesuvius, a
place where the slaves would be safe, their
band of 80 men had grown to more than
70,000.

«(Mt, Vesuvius, a place~): HAt oJo|E E=5}
7| Qs CHE HAIE Foll 5= 8%, 49 2
7t ElCt,

« where= ZARAIZ MlA= a placeO|Ct,

* grow to + HAE (§&o10d) 0| =C

Reading 2 p.140

1.0 2.@ 3.0 4.Q

Summarize the Text

(1) his first trip to China

(2) for a voyage to China
(3) stopped in many places
(4) many surprising things

(5) learned much about China

Answer Key
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Answer Key

EY We are leaving soon! said his father.
+ {are leaving)2 AXTIRYH AKZ 717k Of2H
of SPYx0l U' S LIENNT DIRIARIS CHAISICE

@ He wanted to go to China, but he didn’t want
to leave his friends.

s want= toR™YAE SH0Z Z=Ct

Unit 2. People 2

Vocabulary Preview p.143

A 1.span 2. strength 3. height
4. record 5. raft 6. situation
7. career 8. probably

9. uncomfortable 10. land
B 1.d 2e 3.a 4b 5.c

& o3
height 1% =0|

record 7|2

o

career ¢ Alg|d

land ==alct

span =[UH[], 7|2
uncomfortable =Hat
strength &, 7|2

hire 7Zaict

bottom ©H Of2f, BI=

give up =7[5IC}

raft W=
situation 4=
probably 0tof
industry ¢4

rr

weak 2fef 20| g}

Reading 1 p.144

1.@ 2.@

3.9 4.0

Visualize the Text

(1) pilots

(2) speed records

(3) airplane company (4) hired

(5) wood

=D

HIgHZ |7t L =ED

(6) Spruce Goose



Fet 2BAE & ¢ 2 SIHE |2UCL 19| HIW H=0
20l ol=RE o, J= Hid HEE S0t £ VIEESS
S5 XARICE = Eo Y| 2IAE S

MIA 2z o S0l 0] S22 29 ME 1EShM HIAES
DEES 30 OXNES HA7IRX|EE = 9o ASE 4~ U=
A0|ACE. 7= et HidyE Mes As SO aR2
700E29] QIS EiE 4 AL Z749] Z0| 300TEE o & 4
U= AOIAUCHL T S0l =45 H= A0l oHTY| =0 |
= 2 22 LR SNt 2YA0 322

= 19| BV O
X

| HItHol i 2ol BURUCH 2= B MG

092 LR 749l 2t 22ict

(EEET)!

1 9120 =202 kY Agre %27

@ 0] St 2% MAICHT

O —
SHE7E =, MHE2 39| v/ 7F LURE AAERAT

rr o

S| 22 BRIt UElt 23| AIRO| Ut ABAYE
Si9I Zzxet 10| Bjjof st olok|olct

2 9| 30| 591 BX0f St MPOR ULK| B2 HE?
@ 3= RS ZBNE 5 8 HoIUrt
@ 3= v} BE F95 4 71252 DE AXIHC
@ M7 2% T Z0) 0] 20| 19| EAS DEYUCH
@ 3= U2 Tl tHRE 3402 0I20{Al Hikst 1l

B2 st

M 50| 342 e 20| 0f2igly| HRo| Fxs 30| b
WIS R US2 oiSen UK 0] 322 X
o] 0[21 A2l0f Zo] BT

3 9 20iM T2t 87| MM RE7EITH E ol

g e A

ro
=

@ J= 288 ZEAZE OHIUTE,
@ = iR MHOIU= ARZOIUTY
@ 19| HId7I= Olddet 0IE2 7HX|LL UL

[¢]

@ o] 3=t2 19| o2
29| vVl LF= & tXIRI0[2k= OlF =z o]

=
02
0%
2
o
>
g
H
A
0
S
imi

o
0| M5 Zels BOIX| R, J9| v = ekE87] MY

HolM LS el 2F 22iH 827t =UCE

4 © 29 8o F2 4 Y Y

O 0] S22 |F29| AL FHe HIAV 1S TSV 12 B3

AnswerKey

@ Fx= 0| B2 K102 19| HIFHS S 47} 9

uin

N
rr
i
52
ro
08
ox
1=t
rn
fjo
ne
~N
ﬁ
g\__l
_>‘:
Ral
0z
m
=)
>x
=
40

@ At the height of his flying career, he held all

of the important speed records in flight.
- at the height of ~: ~9| ZHof, ~0| S ih
ol

@EY Metal was difficult to get during the war, so

Hughes decided to build his plane mostly

from wood.

« &AL 's0' = ZUE UEIUE FSARE M,
~5f0{ o elojo|ct,

+ decide= toRE™HAIE SA0Z Zh=Ct

@ He became a joke in the aircraft industry,

with people calling his plane the “Spruce

Goose” for its wooden design.

«(with + =801 + SAE(SRHEAD): SEEA!
T2 Tz, FARQ| Qojd 01 ol (with

£ FO| SAYEC| oJo|S LIEHHCY,

Reading 2 p.146

1.@ 2.9 3.0 4.0

Summarize the Text
(1) alone in a life raft

(2) his boat sank

(3) no food or water

(4) wanted to give up
(5) he saw land

(6) the happiest day

Answer Key
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@ The work helped him not to think about his
situation.
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@& But today, he was too weak and tired to work.
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Unit 3. Origin

Vocabulary Preview p.149

A 1. friendly

4. canyon

3. handshake

6. courage

2. vine

5. worldwide
7. greeting 8. enthusiasm 9. warrior
10. tower

B 1.e 2a 3d 4c 5.b
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warrior MA}

greeting 2IAt
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Reading 1 p.150

1.@ 2.@ 3.@ 4.©®

Visualize the Text

(1) greeting  (2) Europe (3) weapons

(4) peace (5) confident (6) interested
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Each warrior would hold out his hand to
show that he was not holding a weapon.
- each + THAE each7t $4loke HAl=
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@ 1f people do not meet your eyes during the
handshake, it may mean that they are not
very interested in you or they have
something to hide.
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Reading 2 p.152

1.@ 2.9 3.3 4.0

Summarize the Text

(1) the best and most famous
(2) did not start there

(3) on the Pentecost Islands
(4) tied vines to their feet

(5) a test of courage
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The Pipeline in Skippers Canyon is the

biggest bungee jump in the world.
«(the Zl&g + In HM)= zleaS LIEHHACE

@ Itis much safer now, but it is still a test of
courage for many people.
« Hlmg ol much, still, far, even S& MA HJ

ugS 22 o Ao B G ~EF —I 50|Ct.

p.154
A 1. Canyon 2. height 3. strength
4. defend 5. hire
B 1.O 2.@ 3.®
C 1. career 2. offense 3. enthusiasm
4. voyage 5. land



English Usage

A 1.themore 2.go 3. coldest
4. so 5. is sinking
B 1. more -» most
2. fatter --» the fatter
3. but--» so
4. older --» old
5. see - sees

Making Sentence

A 1. how to fight and defend themselves
2. At the height of his flying career
3. it was the happiest day of Steven’s life
4. Each warrior would hold out his hand
5. The biggest and most famous bungee

jumps
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